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GROUPI-2018
MODEL EXAMINATION -1
GENERAL STUDIES

Consider the following statement

L. On February 20, 1947 Clement Atlee declared that British rule in India would end by
June 30, 1948

II. Government of India Act 1919 introduced direct elections in the country

A.T only correct B. II only correct

C. Both are correct D. Both are wrong

LI&STeU(HLD FnBEIHEN6T LIS

L Mageufl 20 194760 Hlemoewil. I 60 yhISGowfer ' & @nhgdwmaled oeer 30, 1943&@ 6l
WYesS B der flalds

II. @b oPsF LD 1919 Coiy GsTsmen @bslwmalsd SflpsliLBGSSIWLS

AT o @ & B. Il v @ &

C. @yemwipd & D. 8yewiB sHeuml

Cabinet of Interim Government

Which among the following is not correct?
A. Rajaji=Education & Arts

B. R.K. Shanmugam Chetty — Finance

C. Sardar V. Patel - Home

D. Joginder Nath Mandal — Law Ussteugpeuensupmieir  SenL o
SIMOFFHSGHLY UBPL SHeupTer Eenewnt 617
A. B grered — seval BEBID &H6emev

B. RK. seaipsd Ggly — H&

C. giarm eueveoumus U GLe - 2 6ligHiens
D. CurdhsT BTdh LDeWIL60 - FLULID

Radioactivity is due to

a. Stable electronic configuration b. Unstable nucleus

c. Stable nucleus d. Unstable electronic configuration
BHTOIEFSHSHBTET HMT60TLD

a. Blemevshd 6160HL e SienLoLIL] b. Pemeolis SHeTEOLWBB © L' &(H

C. HlewevddH 2 L &(h d. Plevevlish SETEODWIBH 6Te0HL JTT6I  SIeHIDLIL]




. Who was the founder of Mahayana sect of Buddhism?

A. Vasumitra B. Nagarjuna C. Rahul Bhadra
UsHHGS Wwamrwirer Liflalewer CarmmiedsseuT?
A. g0 AT B. prsmegee C. gm@ed ugdbym
.. Match the following
a. Constitution Day 1. September 25
b.'Antyodaya Day 2. February 2
c. MNREGA Day 3. November 26
d. Good Governance Day 4. December 25
a b c d
A. 1 3 2 4
B. 3 1 4 2
C. 3 1 2 4
D. 1 2 4 3
OUT(HSHHIH

a. odlwevenioli] gHed 1. QauL_ibur 25
b. opHCurswT FHemd 2. Aigeud 2
c. MNREGA geibd 3. [Beulbuim 26
d. meL SueHmBH Hevid 4. 19&buT 25

4. Match the kinds of cancer from List A relating to the tissues from which they arise in List B

D. Harappa

List B List B

a. Lymphoma 1. Epithelial cancers

b. Sarcoma 2. white blood cells

c. Carcinoma 3. malignancy in structured tissues
d. Leukemia 4. Lymphatic tissue

a b C d

A. 4 3 1 2

B. 4 3 2 1

C. 4 1 2 3

D. 3 2 4 1

UBm CrmuiseT Simeusenl CHmaipid Hassend@ gBu GuBfLliul (etemend GLTHEHSHea LD
a. eVbGuImLDT 1. eligelw FHadssefed LBBICHTU
b. gmi@smiom 2. 15  ClesTeneT ©iemIsh®6r6e0

c. &nird@erriom 3. oL HHSH6eMe0 gBUBLD HLI1QH6NT
d. svmuysGsioluim 4. PewibiTd Hadbmerien

a b C d

A. 4 3 1 2

B. 4 3 2 1

C. 4 1 2 3

D. 3 2 4 1
. A stone cut water Reservoir has been discovered from

A. Surkotada B. Kalibangan C. Dholavira
&606VIaNMe0 S LU L BTHCHHHLD 6IhIE HEWIL MWL L &)

A. FIGsm L B. sreiumiget C. Gzpmeomalym

D. emgiiumr

D. Asang

D. sgmm
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Choose the wrong pair

A. Divine Life — Aurobindo Ghosh

B. India Divided — Rajendra Prasad

C. India Wins Freedom — M.A. Azad
D. India of My Dreams — M.K. Gandhi
SHEUBTET EenerTeniish BT s

A. Divine Life — 9iniiGsm Gsrad

B. India Divided — &gm@xpaly Uggrs
C. India Wins Freedom — M. A. syams
D. India of My Dreams — M.K. a3

What is the name of the first direct container vessel from India to Qatar which arrived at Doha
on 31 March 2015 as part of a non-stop service launched to facilitate swift trade between the
two countries?

A. INS Bandhu B. M.S. Convent

C. INS Rakashak D. M.S. Millennium

@hHUT BBID SHSHSTT BHILYBEG DL B almyaller amaisld HOLOLB gHaTs, @6l [Hle060T
Grewauuielr @m UGHWTS DbHwTaledmbs SHSTT BT (GG BussiLGD, CorasralBg 31 rTd
2015 sep eupbd CFIhHS, (WwHevmeudl Gy FI&GHS HUIL6V6T GLWIT eTeie?

A. sqeteitererd Liba! B. e1ib.c1610. HTeiTGI6M6HL

C. meraielad JHTOS5 D. erib.61610. 106086060 WID

A documentary film made by British Director Leslee Udwin about the fatal gang rape of the 23
year old paramedic woman in New Delhi in 2012 was banned in India in March 2015. What is
the name of this documentary?

A. Daughter of the East B. India’s Daughter

C. Shame D. Daughter in Pearl

LUaIOLe0edulled 2012 Siagip Wsajdb O&T@ILTIS @@ @GlbueoTed FIPNeSSIUl L 23 gl SHIenewT
LGS  wrewial uBpsl GmdleonhHear HubSGHHT Oeverves o Haler SwTldHsh Speueml LI LD
@bFHwmaled oTTEF 201560 HewL OQFLWILLLF. DbSH Speuewill UL St QT eresten?

A. ipdbsHSH W BT 196 LDSH6IT B. @bgwneler wasei

C. 9iauomenid D. sieiiugaled 1061
. Match the following

a. Srikrishna Committee 1. Tax Enquiry

b. Malhotra Committee 2. 1992 Bombay Riots

¢. Wanchoo Committee 3. Insurance Reforms

d. Raja Chellaih Committee 4. Black Money
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a b
A. 3 2
B. 3 2
C. 2 3
D. 2 3
QuUTHSHSHIS

a. ujElmajenim G
b. webBammHym @1

C. GUTENE, (LD

d. gregr QFedemeLUILIT (& (1D
a b C

A. 3 2 4

B. 3 2 1

C. 2 3 4

D. 2 3 1

Match the following

[ N S

N Y

- S SR

a. Swaminathan Committee

b. Narasimhan Committee

c. Omkar Committee

d. Dinesh Goswami Committee

C

3
2
3
2

C

3
2
3
2

d

— k= Wi

— ks W N

a b
A. 1 4
B. 1 4
C. 1 2
D. 4 3
QuUTHSHSHIS
a. GUMOBTHET (D
b. mydlibwer @@
C. QLSBT (D
d. FCeay BsmerdaeuTd @Lp
a b
A 1 4
bl 1 4
™ 1 2
D 4 3
A meteor is

A. A rapidly moving star

aufl el amyenent

1992 ubUTUI &H6eVaFLD
ST G FTHHHBHMmIHEN
SH(HLIL]  LIGHILD

. Population policy
. Industrial sickness
. Electoral Reforms
.NABARD

= W N =

L& HTOBHTMS CBHT6ITeND
BolleuenL[bH OHTHBFTENEOHENT
BxiTHe0 F1F(HSHBHMmIB6N
NABARD

A

B. A piece of matter which has entered the earth’s atmosphere from outer space
C. Part of a constellation
D. A comet without tail

QM efBLFSHTD eleTLISI

SN "

Gouslomd BHMHD BLFSHHTLD
Geuefiliym  elewrGeueulledpibg LOullesr STBE3I eWIL0SHHBES aubHleTen eh GLmmHerlesr

UGS (HlewiB)

bLESHBTEH Sl LSS @ LGS
AUT6L BLELTSH AUTeL HLFHHTLD

(&4
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Which of the following currents is also known as the Humboldt Current?

A. California Current B. Labrador Current

C. Peru Current D. Kuroshio Current

SlbdbaemiL HOIm L miseflsd 6hsd HOITLLID amibBumedl. HEITLLID 6TamempasSLILIBSBSHI?
A. s60Cunmeflwm HGym L 1D B. eomigLnmit Bp@ymL1b

C. Qump B8ym LD D. aGrmagGuimr mGym L 1b

Which of the following, in March 2015, became the first court in India to set up dedicated
commercial courts within it to ensure speedy disposal of cases?

A. Calcutta High Court B. Delhi High Court

C. Allahabad High Court D. Bombay High Court

Leitau(heuemauBmIeN  6lhs b  LDGIIBID, OMTF 201560, HeTanlenl W 616060605 G6TCMEW  aULDE G, BHener
alemIbdl (P9HS GHIUTH, HONWTRT 6Uewld [bHdH DEBEIGMeT Hpelw  SbHumaler (PSHeoTaIH
BHWIBLD 6TeB GUWwenTl CLBBSI.

A. 3005HHT 2 WM BHAIDGIMBID B. OL6bel o wiT BHlwemsid

C. oeoamurg o Wit BaHoetBLD D. umbBu o wit Baoeisd

The least five digit perfect square number which is divisible by 3, 4, 5 and 8 is:

A. 10800 B. 10201 C. 14400 D. 32400

3, 4, 5 ppid 8 FLBBIEL UGULSIQU 0HE GmDBHSH FHWTER DbHH eVdHd aUTHH  6T6wT
61&1?

A. 10800 B. 10201 C. 14400 D. 32400

The HCF and LCM of two numbers are respectively 12 and 2448. If the difference of the
numbers is 60, their sum is:

A. 348 B. 284 C. 248 D. 204

Syewi® ereviseia BIGOLm GuTsl @ et (HCF) wimib B&fm Gurg wLmig (LCM) wpenpGu
12 1oB@Ib 2448 oG, 1 SbHS IMIBEHHES Bl Cuwmer albHunsd 60 eeled, SjeuBpler &nbgHe0
616016017

A. 348 B. 284 C.248 D. 204

The product of two numbers is 4107. If the HCF of the numbers is 37, the greater number is:
A. 185 B. 111 C. 107 D. 101

- QeI sewisellen GumbaBUe 4107.  oibg aavisaier BLICL®G GuTel i eeas 37 el

19.

Ouiflw etewr e1gHI?

A. 185 B. 111 C. 107 D. 101

In a group of students, 70% can speak English and 65% can speak Hindi. If 27% of the students
can speak none of the two languages, then what per cent of group can speak both the
languages?

A. 38% B. 62% C. 28% D. 23%

Qb LOTewIaITHeT  GUpalsy, 70 gFspaisd Gui omdeod GCuaiueaiser, 65 FHelsd GuT b
GuaLaiTser. 27 FHeisld TewielTaeT GCuoBaemi  @rewid Owmfsmenuyd GuaTsHealTseT 666,
®yewi® Gomflemenud GUaLD LOTETEUTH6T THHemen FHaiHD?

A. 38% B. 62% C. 28% D. 23%
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21.

22.

23.

A sum 817 is divided among, A, B and C such that A receives 25% more than B and B received
25% less than C. What is the A share in the amount?

A.228 B. 247 C.285 D. 304

.817 et GTens, A, B wppd C o dCumienL G fsstinGadng. oy, B ol A-
&& 25 Foeishd oFs 0HTms FHomLsdpzs, 265 Gurew C-gn ol B-dg 25 sseisbd CTons
GOBAUTEHD B SHBSHI.  DeUTOBRIed DHHH CFTemsuled A-65T LMKIEG 6l6Ter?

A.228 B. 247 C.285 D. 304

The shocking incident of a mob breaking into a jail, pulling out a rape accused and then
lynching him on streets took place in which city of Nagaland on 5 March 2015?
A. Peren B. Dimapur C. Phek D. Kohima

QM GUL Qh FempF FTewevdh@GHel UGhHH, SBUlILS @GBp FTiLiu’ ey OeuefCu @wsHal
ubH OFHmaled MausHHH HTHHE OFTmev CFUIH DHTFFETOTRT HHDeY BTHTEOTHSE  6lHSH
BEISHH60 5 nTF 2015 jeiml HewL CLBmEI?

A. Quiyesr B. gy C. Qus D. Gsraniiior
Match the bionamial of silkworm from List A with the type of silk produced in List B
List A List B
a. Attacus ricinii 1. Muga silk
b. Bombyx mori 2. Aradi silk
c. Autheraea paphia 3. Tassar silk
d. Antheraea assamensia 4. Mulbery silk
a b C d
A 2 4 1 3
B. 3 4 1 2
C. 4 2 3 1
D 2 4 3 1
o uliflwed QuwIT O&meil UL GUFHedwud SigHer Swmfliemuujd QUM(H&HHIs:
a. oI L1600 Mdflenent 1. apaT U’ (B
b. umbiigerd Goml 2. Syl ®
C. opeirgiflur. um. . wir 3. LenTul B
d. SesuIT. oeroermGiosieniled 4. wedGUIALILL B
a b C d
A. /J 4 1 3
B. 3 4 1 2
C. 4 2 3 1
D. 2 4 3 1

Match the diseased with the binomial of the disease causing organism in List B

List A List B
a. Dysentry 1. Xenopsylla cheopis
b. cholera 2. Leishmania
c. kala — azar 3. Entamoeba histolytica

d. Bubonic plague 4. Vibrio species
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25.

26.

a b C d
A. 3 4 1 2
B. 3 1 2 4
C. 3 4 2 1
D. 4 1 2 3
Gpredwid Semdh gBUBGSHSHID SHeuWT (G memramuierud CUT(HEHHIS.
a. £56ug) 1. FCanmiienilengud GaGuImlerd
b. @meugm 2. 65a3Geflwm
C. HTeUT-OIFT 3. ereroum  anfleroLedligasT
d. uBumefld L1Gens 4. aMMGwmr Seord
a b C d
A. 3 4 1 2
B. 3 1 2 4
C. 3 4 2 1
D. 4 1 2 3
Consider the following statements

I. Satyendranath Singh — temporary president of Constituent Assembly

II. Rajendra Prasad & G.V. Mavlankar — First president of Constituent Assembly and the
Speaker of the Legislative body respectively

A.Tonly correct B. II only correct

C. Both are correct D. Both are wrong

LI&STeU(HLD FnBEIHEN6T DLUIH

I opfwed miremw gFeouuiesr sBaTElS HemeveuT FHHCWHSHIHTSH Fmi

II. ®@Bxpdly Ursrs wEpID 2.el. WIeeTERIGT (WopBu Sduwed BiTewiu Feuule (LPSHed
SHEMEVAUT LOBXID FL L DGIBHSIE  (LPGH6D « &6M6V6UTEHETEUT

A. T w'@w &l B.II w'@w &

C. @y g D. @gewibd Heuml

“Indian Constitution is founded on bedrock of balance between Fundamental Rights and
Directive Principles.” Supreme Court held the above statement in which case

A. Kesavanantha Bharti Case 1973

B. Minerva Mills Case 1980

C. Golaknath Case 1967

D. S.R. Bommai Case 1994

“@hsHwu  opfweoemoliy]  FULD  Sugliuen. o flenwdeT  oBmid  auflsT B OBMipeBmaseiT
o FLBBleT FHeNeD HHBHIUHH T DGLILIHLUT6d DIMIDHSHIETENH — 616l 2 FFHAHIDMIBLD  Fnpsiul
LSS

A. GCaganenbadt umyg euwpda — 1973

B. Wenteur wed eupd@ — 1980

C. Gamevdprd aupdh@ 1967

D. S.R. Qumbeno eupd@ — 1994

Arrange the following Ancient Indian astronomers mathematicians in the chronological order:
1. Varahamihira 2. Bhaskara 3. Aryabhatta 4. Brahmagupta

Select the correct answer from the codes given below:

A 1,3,4,2 B.3,1,4,2 C.2,413 D.4,2,3,1
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LIpMISTeL eumediailuled ommid Hewilsh Guengsemenr Hmev auflenaliLbBsHsis

1. eugmamLO&yiT 2. LITerO&IT 3. STl LT 4. @ lsT

Baubpier

A.1,3,4,2 B.3,1,4,2 C.2413 D.4,2,3,1

Tiruvalangadu copper plate inscription and the Tirumalai rock inscription reflect upon the

conquests of

A. Rajaraja 1 B. Rajendra I C. Rajendra II D. Kulottunga
HmeuemsTH LOBBID H(HLOMmeD He0GIOUL (HH6NT LisTeu(hld etenTaerled 6lbd Loevteunlen Glaumpslenu
LIeDBEFTBMIS|6ITB60T ?

A @pgeomd @ITe@ITege B. wgeombd @ynGeabalit
C. @yewiLmb @yr@apbdyiT D. &Gsurgdhgimicme
Who operates the National Disaster Response Fund which was constituted under the Disaster

Management Act, 20057

A. Prime Minister

B. Union Minister for Home Affairs

C. Union Minister for Parliament Affairs

D. Union Minister for Environment and Forests

GufiL  Gueumemtento FU LD 2005-651 L o (Hourdslul L  Gadlw CuifiLT mHmwd meWTeTLIeT
wimir?

A yso whSH

B. wgFu o 6gHiens SienFsT

C. wsaw uTyTEbLeEs aleuBTTHHINB DINLOF FT

D. whgdlw sBDIFSHHe0 OBBID UATHIHIENB DIHLOFST

Poverty in less developed countries is largely due to

A. lack of cultural activities

B. voluntary idleness

C. income inequality

D. lack of the intelligence of the people

oueNiT& & GmBHS BTGH6T60 auBlendE OLUfigd sSyewd
A. BEUTEST] BLAIYEHMBHET (&NB6)

B. Geuemeouileirento

C. aupan gBpooTDey

D. wsseallar @Gophd LHH FniTenid

Which of the following have coral reefs?

1. Andaman and Nicobar Islands 2. Gulf of Kachch

3. Gulf of Mannar 4. Sunderbans
Select the correct answer using the codes given below :
A1,2and 3 only B.2 and 4 only
C.1,3 and 4 only D.1,2,3and 4

BB HEWIL MEUBENED 6160 LIQUSTLILITENBHET 2 61T61T6n ?

1. oIbsw0TeET BBID HCSTUTT SHe|sHei 2. &LF aUMeN@GLT

3. LDGOIGUITIT  6UEMGTELIT 4. ZibBHTeUTDHBT(HB6NT
&0 OBThHEHSLILLBeen GBluibsamen LWSLGSHS Fllwmer alwLewd CaHibeGHBHHILD.
A. 1,2 ioBmib 3 L Bid B. 2 woimib 4 o1 Bid

C. 1, 3 wimib 4w Hid D. 1,2, 3 wpmib 4




31.

32.

33.

34.

35.

Which of the following winds relieves the people of Gulf of Guinea from oppressive hot and
humid weather and is termed as ‘doctor’ by them?

A. Hermattan B. Sirocco C. Khamsin D. Brickfielder

BHHEWIL  6HH STHBWI, ST  eUmeTGLTaN6 DHHemeT  SBHewowmer Oeuliid BB  FFLUS
aurefeneouledbpba alBhaldHdHd WLBBID SUTHET DnSH “LASLT 6lead SienLpd enmentiT?

A. aTIoTL L TesT B. fgn@am C. smbdler D. df&." .Se0L i

Choose the wrong statement

A. Ajeya Warrior — India and UK

B. Surya Kiran - India and Nepal

C. VARUNA - India and France

D. Dosti — India and Bangladesh

SHEUDBTET SnBenB  H6wIL (1

A, oBgur aurflwi - GbSwn wBHID BRiSlenh)
B. @iw dyewr - @hHur wppid GpuTend

C. oumewm - @bHwT wBHIDd . .LIFmeis

D. Gamervd) - @pFHwm Bmid UnkEemBHaid

Which of the following was declared as World Heritage sites in India in2014?
A. Kaziranga National Park

B. India Gate, Mumbai

C. Bandipur National Park

D. Rani - Ki — Vav and Great Himalayan National Park

20148110 Sewih @bhFHwmaled o evs umgwLfuw &emors Spfelssiul L G b

A. srfgrier Cadw UmIST

B. @bsdwm mienpeumuied, (pibLmul

C. upgdliyi Bl WhisT

D. gmewi-gl-eurel oBmid Someows CxHFus LB

Who was the first Indian to Receive Ramon Magsaysay Award?

A. Vinoba Bhave B. ].P. Narayan
C. Medha Patkar D. Aruna Roy
@yCGomet 108C5CF alpHlenet GLUBB (WHed @bAHwiT wmir?
A. a1@emmum LTGeu B. Gx.19. mmymuwew
C. GuaT Uit D. smewm gmul
Match the following
UN Agencies Head Quarters
a. ILO 1. Washington D.C
b. UNICEF 2. Paris
c¢. UNESCO 3. New York
d. IBRD 4. Geneva
a b C d
A. 4 3 2 1
B. 4 3 1 2
C. 4 1 2 3
D. 3 1 2 4




36.

37.

38.

39.

40.

QUTHH SIS

MBHHW BTHHET DIMIBHIH6IT FHENEVENLOUISLD
a. ILO 1. auragmi_est D.C
b. UNICEF 2. umflerd
c¢. UNESCO 3. pluguwiires
d. IBRD 4. Ogesieur
a b C d
A. 4 3 2 1
B. 4 3 1 2
C. 4 1 2 3
D. 3 1 2 4

Selling price of a commodity is increased by 15% in a year and then the new price is decreased
by 15% in the next year. Find net increase or decrease in the selling price.

A. no effect B. 2% decrease C. 2.25% decrease D. 2.25% increase

@ Oummefler elBusmer alemew @ oemiged 15 FHaisd FHsfssiiubaps.  UBe usHuw
alemev SIBHSH Semged 15 FHaipHld GHBESLILUGHBSH.  alBumer alemevuier Ber oiH &MLy
DIVVGHI GMMLIL] 6T6l66T6,?

A. omBp Bevenev  B. 2% @emmey C. 2.25% @emsey D:2.25% o18s1b

Price of sugar having been fallen by 10%, a consumer can buy 10 kg more of sugar than what
he was buying originally. Find the quantity he was buying originally.

A.80 kg B. 90 kg C. 100 kg D. 110 kg

gidamIuier alemev 10 5D GHMBHSHSHTEV, QU GUTIQHMBWITET (LPIIDISTE HTT UTHIS  6UHSH
giasenguiler oememel ol 10 SH& Fidsmrenwl FmBHUTE QTG (PRHMBH. DT HTIDLISHH 60
UTRIS aubhs FTdsemyuile Si6me| 6l6ie’

A. 80 8& B. 90 &l C. 100 aa D. 110 &l

Which of the following is the biggest in value:

A 19417 B. V13 -+11 c.N7-+5 D. V543

Leirau(heuaTeuBmIeT 0&aD DS FHIIL] 2 6Tengl 6157

A N19=\17 B. 13 -+11 C. 7145 D. v5-3

12°+15°+16° =3x12x15%16 _n
122 +152+16% —12x15-15x16-16x12

A. 43 B. 34 C.9 D.4
Ifx- =7,thenx3- —=7
X X
A. 309 B. 322 C. 364 D. 401
X - :76]'65ﬂ@'), X3-—3:?
X X

A. 309 B. 322 C. 364 D. 401
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42.

43.

Consider the following statements regarding “Earth Hour”.

1. It is an initiative of UNEP and UNESCO.
2. It is movement in which the participants switch off the lights for
one hour on a certain day every year.
3. It is a movement to raise the awareness about the climate change
and need to save the planet.
Which of the statements given above is/are correct?
A.1and 3 only B. 2 only C.2and 3 only D.1,2and 3
“yall CHIHHME” OCBHTLTLTET BIDHBWIL  FnBBIHMET DLUID
D 8x w68l (UNEP) wpmid  wlerev@st  (UNESCO) ayduwiemeuseies gl B
WPWBAWmELD
2) G5 T BussD HGL. BHH BUdHsHH0 HevbHH OCBTHTLMTHET @6IC6UTMH aIBL (LD Qb
GBUI L prefled @ wewll CHIWL Wer alend@smen Simenihdl alBHeuT.
3) @b BuissLd ST6VHI6M6V LOTMBMBLD LOBMILD Lailenu
urgisTiusBaTer Cohamen GBSl allfilianiTenea DIHSMNHHF QFUIHBSI.
GuBsv OETHHBIILL L FnBmimeiled 61gl/ etenen &ifl?
A. 1 wBpibd 3w B B. 2 o (B C. 2 wpmitb 3 (B D. 1,2 wpsiw 3

In India, how many states share the coastline?
A7 B.8 C.9 D. 11
BOhHWLTaN60 615HHEME LOTH6VRIB6T HLBHDTMUIDH 6T 6T (BeiTernent?

A7 B. 8 o9 . 1

Arrange the events in chronological order regarding Indian Economy.
1. First phase of nationalization of 16 banks.

2. Establishment of Narashimhan Committee on the Banking System.

3. Enactment of FEMA Actin India.

4. Establishment of EXIM Bank in India.

Codes:

A.1,3,4,2 B.1,4,2,3 C. 1,324 D.1,4,3,2
@hHul  QuTmHENTHAFD — OFHTLTUTET  SHDSHEWIL BBDHMET  STeuSH e  SigliLienL_uiled
aufleng LB HSI5.

1. 16 amdsemen GoHAuIbuIDTdased

2. auBlE el (WwenBulleT & SIemSSILL L  BIFIDD6T &1

-~ 3. @bFHwumaled SBBWEF Gaeoreueni Gevmamienid FLUL HMS BHewL (PenBLILIGSHS LS.

44.

4. @hFHwraled gBBILs BBSHEGLH eunmE 2 (HeuUTHSLD
A.1,3,4,2 B.1,4,2,3 C.1,3,24 D.1,4,3,2

The Reserve Bank of India regulates the commercial banks in matters of

1. liquidity of assets 2. Branch expansion

3. merger of banks 4. Winding-up of banks

Select the correct answer using the codes given below

A.land 4 B.2,3and 4 C.1,2and 3 D. All of these
@b fameiums euemis amssmen 6hOHHSH alaumidseied QUERIGUBSIHBBHI.
1. QandHHIHHeMeT HiTHHETEND 2. &lewer alifleurdhasid

3. GUBIFHENET  E6N6uhFH60 4. aumBHemen ep{BEH60

A. 1 woppib 4 B. 2, 3 wmpib 4 C. 1,2 wnmib 3 D.GwBe agaplur wimeyid




45.

46.

47.

48.

Match the following:

a. Muftis 1. Intelligence Agents

b. Barid 2. Exponder of Law.

c. Kotwal 3. Minister incharge of Army.

d. Arz-i-Mamalik 4. Head of city administration.
a b c d

A. 2 4 1 3

B. 1 2 3 4

C. 4 3 2 1

D. 2 1 4 3

OUT(HSHSHIH

a. (. .uglerw o ey ifley

b. ufic FLL  6U6OGVIBT

c. Gamlaumred
d. syrerd-@-omomred s

BrTaniel SIEMOFET
BBJ HITEUTS HENEVET

el A e

a b C d
A. 2 4 1 3
B. 1 2 3 4
C. 4 3 2 1
D. 2 1 4 3

Who was the Hindi poet during Akbar’s time who pleaded for a modified caste system based
not on birth but on individual qualities?

A. Tulsidas B. Surdas C. Narasimha Mehta B. Maharji Rana

LIpider oiglitienL_uflsd E606VTIDED - G 6eWIEIG6MeT Slglilienl_uled &T8 (enmenw! IBm Csmilu oisuT
oimauuiisd Jmps Qb sallehT

A. siendFraf B. @&israi C. prdiow GuwsHst D. wamted gmewrm

Which among the following is wrongly matched?

A. 4th Schedule — Article 4 & 80 B. 9th Schedule — Article 31C

C. 10th Schedule — Article 102 & 191 D. 8th Schedule — Article 344 & 351
LeiTau(heueToUBmIeT SHeUBTeT Eenenieniid SIS

A. daig Sl Laument — FULSHImm 4 & 80

B. 9a1m o Leament — FLdamm 31C

C. 106uz oI Lament — FlLdbdmp 102 & 191

D. 8augl ol Leauement — FULdbImm 344 & 351

Consider the following statements about Preamble

I. Ernest Barker — Key note

II. Palkhivala —Identity card

II. K.M. Munshi -horoscope of our sovereign democratic republic
IV. Thakur Das Bhargava — Soul of the constitution

Choose the correct code:

A. 1, III correct B. I, II, III correct

C.I, IV correct D. All are correct




49.

50.

51.

Walyemy uBpiw LTl SnBuisemen SpUls

[.  afemedl uMTeBaT - (WHHW GBI

II. wed&eumevm — SiEWLWITOT I ML

III. KM. wemed - @bdHu |emprus @Gouyd Sensumesienouiler msHaid

IV. srgit gmed uniiseur - @phHu SHIFFUICOenLOLILNGT SLeiTLom

A LTI &M B. I, II, IIT & C.IIV & D. smaiggid &

The police of which State/Union Territory, on 21 May 2015, proposed to reserve 33 percent of
the seats for the posts of constable and Sub-Inspector for women?

A. Andaman & Nicobar B. Delhi

C. Lakshadweep D. Puducherry

abg wiple opdar / welwer i8sssdlear @Teusd Hiewp, 21 G 2015 oy, 33 olwssn®
STeUeVTH6T  LoBEID o FHal uuieutenT Ul misemen  &el(hEETE QHBGHMB 6B (P16
Cauimngl?

A. obsonet wBEpIDd HGsTLMT B. GL6060

C. ol g8 Faumei D. yg1568a

Which fighter jet of Indian air force (IAF), on 21 May 2015, landed successfully on Yamuna
Expressway as part of developing road runaway for emergency landing?

A. Sukhoi B. Mirage C. Rafale D. Dassault

DIUFTETL  HOTUIBSSHHMBEG gaHUTE DHSGWD CUTHLB, 1m0 @B HsHms DLlalHsHs)
Cowlugdlall @ UGHWTS, @b alwrernl umLuildr embhg Gurt Gl elwrend, 21 G 2015
I Wipenm ardheroLlIzed Gauiled GeuBmiarionsd Hy SBrisig?

A. 58smul B. figmen C. Q. .Gued D. Lgmeor”

Match the sex anomalies in list I in human beings with their genotypes in list II
List I List IT
a. Hermaphroditism 1. The females are sterile, have short strature,
webbed neck, low intelligence poorly

developed ovaries (44 autosomes + only one X
chromosome)

b. Super females 2. This is due to the presence of an extra
chromosome in males. The zygote will have
three sex chromosomes (XXY)

¢. Turners syndrome 3. The person will have one extra X and Y
chromosome The external gene talia coil not
be well defined.

d. Klinefelters syndrome 4. They possess on extra X-Chromosome (44

autosomes +3x Chromosomes) They are
mentally retarded and sterile

OnN %>

W DN Y
= QW = =g
— = W N
NN WN A




52.

53.

el FHfled LTed DeHHfLBEDHL 6T LU HEHHMS OUT[HHIHIS.

a. @muted o ulfigseaienw 1. BeuTseT Guieoumer GLewsmen GuTen
B6060UMLOED LDV (HEHSHEIIENLOU|LGDILD, (H6IT6NTE
SHETENLOW]L 6T SBLILIT. SHIBEB &S(PSHSHI LOMTLL gNILD,
o6y nTenoWIB®I, UETTFFUISHTSH LML OBHILD
SIWIL LIS emend  ClBmewTig (HLILIT

b. o ufitiuewny OQuemiasst 2. eyewisaied @m X GGIMGLICHTD i HID
srewi LGl Bm X(XX) &GymGuwn@amd Omewr
QM oFTHIFa (1l Y G8ymGur@gmib
CamewiL grgmyent albHeuTed &H(HeYBIS B

C. Litenflelr @emm dnl B 3. @ X oBpid Y SIFB0THS CSmemtigmliiT

GeuefllLim® umed Fmibd LB o mIliserier eueTéd
QU ULIMISBLILL 1606360
d. @enereir.”.GLIGOLT 4. m X &CrmBurCamiilensr SHHD OHTeuTgHLUILIT
GmBLIT(H 44 9o BLnBambase +3X  &GymGLNBFTIbBHETLOGTIAIENTF

SIBBEUTEHENTE  EHLILIT

oNn >

W= DN e
= W = =g
— = W N
N DN WDN

Which among the following statement is incorrect
A. Alcohol is a stimulant and it slows down the activity of the nervous system
B. ill effects of tobacco are considered to be due to the absorption of nicotine
C. Drug abuse refer to any use of an illicit drugNone of these
SHOUDBTRAT FnBeDBDH H6WIL15S
A. 9EOFABTEL R OWMHBUITS . © 6TeNgH  LOBDBID B&H  BILY WL  GFuweoumenL
QL &HITEHGHBHBSI.
B. yemauimevuied 2 eitenm HEHT 9emedt 2 MlehdFaldTed HHIG gBLBS MBS
C. Gumeng LSS 6&ILISI HUBTET OHHENSULD LILGTLIGSHSHIOSTEGHLD
D. @mal ggidls0enso

Consider the following

Assertion (A): Non-communicable diseases are caused due to defective metabolic processes

within the body.
Reason (R): They can also be caused due to life style and changes in the environment.
A. (A) is right and (R) is wrong
B. (A) is wrong but (R) is right
C. (A) and (R) are both correct
D. (A) and (R) are wrong
SpdHHWIL  FBpIseiledmbha Flwraiensd Cxie) OFuis:
ampl (A) : ugeum Grmuise eleLg o L 6lenieGenBGul o eitem (& empUTBeiT6N
auenT&flensd oTBB CFwWeL(PeBUTd © 6w THHIIQUISI.
asmyewid (R) : Siemeu eumpdemas (pemB OBEUID  SHBBIFEHI60 OTBILITLIQETTEIID  6JMBLIL 6UTLD




54.

55.

56.

A. (A) o (R) @rewin o

B. (A) wppid (R) @yewiBd Gamupps
C.(A) af, spemed (R) Houmi

D. (A) seum, syemmed (R) &l

The use of ‘I knife” in the medical field is
A. to detect cardiac disease B. to detect cholera
C. to detect common cold D. to detect cancer
D(HSHBHING HMBUTIEL &3 MBI —6i  LiieoT
A. Bmaw CrTuiIsmend SHewIL5lgHe0 B. smeugmeneuds SewiLslge0
C. gngmyen Feflenwid S pigHe0 D. uspiGrrenuis &6 5lgHe0
Which city, in July 2015, emerged as the first one to send its nomination to the Centre for the

‘Smart City” Mission that was launched by Prime Minister Narendra Modi earlier?

A. New Delhi B. Chandigarh C. Puducherry D. Ahmedabad

Upso  whHiwred WaaETed CHTLMIS  meubsiu’L  “Gureleym H&JD’ (Smart City)
DUSBHHBHTH SHAIDIML L aleRIMILILISMS 23260 201560 (LPSH6H (P&Hedled SenIfILIul LoMHlevd 61517
A.ugl GLebed B. gewngamit C. usFGa D: semivgmung

The diameters of two circles are the side of a square and the diagonal of the square. The ratio
of the areas of the smaller circle and the larger circle is
A 2B B.1:42 C.1:2 D.1:4

Orewi® Ul Lmisellar el LmiseT @b FHTSHH @h USSBIPD, DbDH FHTHIHT cpemev il L (b
G Obs FPw el wBpid Guflw el HHea urtiueneyseier alasd

A 2B B.1: 42 C.1:2 D.1:4

57.The length of a plot is three times its breadth. A playground measuring 800m? occupies one-

58.

59.

sixth of the total area of the plot. What is the length of the plot?

A. 130m B.120m C. 40m D. 160m

Qb HeVSHAHGI HeMD DIHET DIBVGHMSBL GCUTEL (PeTW LBIG Su&GD. 800 FI6 SleeyeTen (h
alleanTLB = owsTeld SbHs HlevddHer Gorshsd uFluenalsd mled  @m UREG Bl SHmsH
BB HHS CETIB6TENDH. DibDH HEVHIHI6 [HeNLD 6Testent?

A. 130m B.120m C.40m D. 160m

What is the least number of square tiles required to pave the floor of a room 16 m 25 cm
long and 9 m 10 cm broad?
A. 315 B. 175 C. 350 D. 530
1615 25 Qg6 perpd, 96 10 QF5 SiB60WpD OFBTEWIL  @(H HOILILTLIML  (LPIDUSBIOTS [Hlenmey
CuusBg GCameuwrer  GOBHIULF FHT  eugen  Her  HIFLLSsT 6T6U0T 6011 &b 6D & ML
SHew1(BLIg &S| ?
A. 315 B. 175 C. 350 D. 530

Three solid spheres of metal whose radii are 1 cm, 6 cm and 8 cm are melted to form another
solid sphere. The radius of new sphere is:
A.105CM B.9.5CM C.10CM D.9CM




60.

61.

1 QF5, 6 QF5 wBLBID 8 CFS SImEmen 2 LW weaim H o Coors CamenmiseT o (hbsULL (B
@eioem(h H Cxmemons o (HaurdbsLLGHSBar. LS Carenddler oL
A.10.5 Gg1 B. 9.5 Q&1 C.10 &8 D. 9 Qg1

A hollow sphere of internal and external diameters 4 cm and 8 cm respectively is melted into a
cone of base diameter 8 cm. What is the height of the cone?

A.12 cm B. 14 cm C.17cm D. 18 cm

4 Q55 o 61 allL wwBmd 8 6GFS Oeuel allLapd CaTewiL @ o etefimp  Gsmenbd
o HEBHILLGB 8 GFS ol el Ll CHTHIL @ &mbUTH o (HauTdSLLGSBH.  DbHd FnldLler
o WD 6T6vTeur?

A. 12 Q&5 B. 14 G&15 C.17 Q&5 D. 18 Q&6

The debris of the Indian Coast Guard’s Dornier aircraft that went missing off the Tamil Nadu
Coast on 8 June 2015 were located on 10 July 2015, some 1,000 metres under the sea. The
search of the air craft became possible after first of its kind of search operation carried out in
India at such depths. What was the name given to this search operation?

A. Operation Talash B. Operation Sagar

C. Operation Rescue D. Operation Needle

SOETG sLBSmIUId DHbH 8 eral 2015 oim stewmosd Cumrer @pHHw HLGeomy  SHTeued
uemLedwF Gaihg LaTelwT elbraibdHer o el bdh LTHESeT 10 aPmev 2015 OB SLHE
Slguied 1000 LT SLpHHev SeIBLIQSSLILL LT - @hHuTalsd EHeuemy Ee0eoTsH DleTauTd
®euuene] ool euedyuievren CaBHd GCoulenl BL SFHWwGen almenauTsCel, SibdH alOTIHMHH
SIGLIQLILG FTHHWIOTHIH. BhHdH CHBH60. Caul el &@GHs OBHTHHSILIL L LT 6Teirenn?

A. $60T03 BLAIYHMB B. s1&it pLaIgEHmB

C. 180y BLaNgEHMmS D. eardl BLaugHNB

62. Which among the following is wrongly matched?

63.

A. Dadra & Nagar Haveli - 10th Amendment Act
B. Goa, Damman and Diu - 12th Amendment Act
C. Puducherry - 14t Amendment Act
D. Meghalaya as'Autonomous State - 20t Amendment Act
A. snsym wBpid HaT anBaed — 106Uz FULSHH([HHSHD

B. Gameur, Lmwer oBmitd L, - 126ug FLLSHHSHHLD

C. umIsCafl — l4eug FU L HHHSHSLD

D. Guateownr g seelFamawner wrBleod - 2068 FLLSHHHSHSHD
Consider the following statements

L. 52nd Amendment Act, 1985 — Anti-defection Law

II. 52rd Amendment Act - Xth Schedule to Constitution

OI. 91t Amendment Act 2003 - made change in Xth Schedule
IV.  Defectors have no protection on Ground of splits

A.T only correct B. II, III correct

C. I, II, III correct D. All are correct




LI&STeU(BLD FnBEBIHEN6T DLUIH

L 526u81 FLLSHHSSD 1985 — s FHsmeusd HemLFFLL LD

II. 526Uzl FLLSHHSSHD - Sdievemoli] FLUL SFHer 10615 DI L 6Ueneut

III.  9leug sFLLSHHHSSWD 2003 — 106ugh SiL L eueneniiled H(HHBHLD

IV. sl AHTa16060 FHUGGMTTEEG 6ILTHISTILD Ee06m60

A . Tw' G & B.II, III &M C. L II, III &M D. smaiggid &

64. Which Amendment Act empowered state to make special provision for Advancement of

65.

66.

67.

68.

socially and economically backward class

A. 934 Amendment Act B. 1st Amendment Act

C. 38th Amendment Act D. 44t Amendment Act

FePD LOBBILD QUIT(HETTHTT & F60 LIBLUGSHSLILL GLmiflesr Guur wBars ® (HOUTSHBLILIL L
FLLHIHBHBD 61517 :

A. Baugl FULSHHHBLD B. loug gL &FmeHId

C. 38aug FULSHHSHPID D. 44eug L SHmHSHD

Who appointed Harihara and Bukka to deal with rebellions in the Kampili Kingdom?

A. Alauddin Khilji B. Muhammad bin Tughlaq

C. Ghiyasuddin Tughlaq D. Firuz Tughlaq
siel gmbyrdedwishsHed gBULL SHlenTFdenwl @BHd anflasyT LBBID LHsTenal HudldHd LDevTerT
wimfr?

A. soredet Fevgd) B. @wsibing e gidend
C. dunadler gibend D. " .Amed gidbens
Who was the President of the Madras Home Rule League in 1916?

A. G. Subramania Iyer B. Annie Besant

C. V. Shastri Chiplunkar D. George Arundale

191654 6w GIOLFTEN SIS DUibESHH6E HMeVaUITH S ([HHHeUT?
A. G. aindyweniul guiim B. ol Quge

C. V. grevgfl diieonmicsit D. snfrey omemiGL 60
Which of the following constitute capital account?

1. Foreign loans

2. Foreign direct investment

3. Private remittances

4. Portfolio investment

Select the correct answer using the codes given below

A.1,2and3 B.1,2and 4 C.2,3and 4 D.1,3and 4
S UHEUTOUBMBIOT 61H| CLPEOHE HMIHMD © (HeUTHGSHMSHI?

1. oIpBHus S 6 2. omppw GBIy (PHeSH

3. HelpUT &L L coTmhis6l 4. FWB FTMHS (PHESH.

A. 1,2 woBmib 3 B. 1, 2 wipb 4 C. 2, 3 wnmib 4 D. 1, 3 wpmib 4

Disguise unemployment generally means

A. large numbers of people remain unemployed
B. alternative employment is not available

C. marginal productivity of labour is zero

D. productivity of workers is low




69.

70.

eB(ps Gauenev OUTHITHS GMBILILIGI

A. 9185 cmienidmauieoner WwHHeT Galemeoules &mH&aHe0
B. wiBp Geuemev euruiiletenio

C. 2 epinien Guiplmew o BusHd BB Le3edlubd ouELD.
D. Gambeoreniseilen o BusHdd HBT GHopauts EHHESLD.

The highest peak K2 of India is located at

A. Karakoram range B. Ladakh range

C. Zaskar range D. Pirpanjal range
@hFHureler e o wyorer dAsyb K2 agled oiemwpbgieeng?
A. smpG@aTIID 10M6VSHOHTLIT B. o0& 10eme0GH0IHTL T

C. 2T 106m60HOHTLIT D. ftunehaed 106n60SHO\SHTL T

When you travel in the Himalayas, you will see the following :

1. Deep gorges

2. U-turn river courses

3. Parallel mountain ranges

4. Steep gradients causing land sliding

Which of the above can be said to be the evidences for the Himalayas being young?
A.1and 2 only B.1,2 and 4 only

C.3 and 4 only D. 1, 2,3 and 4 only

BRIG6T GIouinemeouied Liwlenid OFeelid GUTEI, SHLDSHHEWIL MAIHEN6N LITTEHSH60MLD.

1. &uonet 1eneoull(Ba@H6l

2. U- cuederiey SiBmI STe06UTUISHENT

3. Bemeniimel D6V OCIHTL TEH6N

4. pleogFgflener o Wi ThHHamoul CFRIGSHDTe File|Hei

GBsv sewTLaumBmled 6Temeu EGIDUIDENEY  B6TTeDIOWITS B(HLILISBEHTE LHTIMIGSET 6161 FnBLILBSBaI?

A. 1 oBmib 2 ol Bid B. 1, 2 o 4 o1 (b
C. 3 wBmib 4 LG D. 1,2, 3 woBmib 4 o1 (Bid
71. Which among the following incorrect with regard to dance form
A. Meghalaya - Laho B. Mizoram — Khantumm
C. Uttarpradesh — Navtanki D. Bihar — Jhora
BLGNT GUQaID QFHTLTUTE HEUBTE SnBenB SHeviL sl
A. Guosmeowr — s0Bamm B. 0Gsmyd - sen G
C. 2 589mM8x51D - HeupThI D. dsni - Gggmym
72. Which instrument is Pudukottai Dakshinamurthy Pillai associated with?
A. Kanjira B. Mridangam C. Flute D. Violin
UaIECaTLmL HFFlewimepTdhd) LeTensn 6hsd SengdsmalL e GHTLTL L UleuT?
A. sEhdgT B. 0mamisbd C. Leve0rmmhiGLpe0 D. euwieSes

73.

Pick out the wrong statement.

A. Leydig cells are found in ovaries

B. The accessory reproductive organ is prostate gland
C. The ovum develops inside the Graffian follicles

D. Oestrogen is secreted by ovary




FHaupTer amsSsbmsd Cxie) OFul:

A. 60pdh QF6LH6T SIWIL SHFHe0 SHTent ILIBHLD

B. yged@GLL syl eplwenowing SeiGUmeHs o BIILTEGLD

C. dymiwesr utenddefen o L LBHH60 DIWILLD 2 BLSHLITS GBS
D. merdl Grmeell SIWIL SHBT60 &I HBLILIBS @B

74. Pick out the item which has sequential arrangements.
A. 1. Zygotene 2. Leptotene 3. Pachytene 4. Diplotene 5. Diakinesis
B. 1. Diakinesis 2. Zygotene 3. Leptotene 4. Diplotene 5. Pachytene
C. 1. Leptotene 2. Zygotene 3. Pachytene 4. Diplotene 5. Diakinesis
D. 1. Pachytene 2. Zygotene 3. Leptotene 4. Diplotene 5. Diakinesis

gflwrer auflengenwis QFfey GFul:

A. gBamyet, GeoliGLmger, UTHHIger, 1QLlIGeTIQeT, ML WLTanG6IH6rd
B. ev_wrensardlerd, eng@smigei, GQeoriGLmgesr, 1QLIG6mTIQest, LTI 6
C. GevlisLmgelr, enFB®mget, LTHBIQET, I9UIGETTIQET, ML UITENEH6IE 61D
D. urédiger, anaFGammigeit, GeLIBLTQET, 19LIGETTIQET, ML WLITENE6IE erd

75. Match List I correctly with List Il and select your answer using the codes given below :

List I
(Coast)
a. Konkan Coast
b. Coromandel Coast
c. Malabar Coast
d. North Circar

a b C
A 2 4 1
B 4 2 3
C 1 3 4
D 2 3 1

BN = A

List IT
(State)
1. Kerala
2. Maharashtra
3. Tamil Nadu and Andhra Pradesh
4. Odisha and Andhra Pradesh

ucguied I, wuluied II o L& QuImsHE, 6w @Ml Gerten GBuibsmend

uglensv CaiThH 0% 6.
U iguieo I
LB

a. Gemmser &L Beeny

b. Gzmp wewi_6vd HL BB

C. LDGUUIMT &L [B&6M]
d. e gidbasr

a b C
A 2 4 1
B 4 2 3
C 1 3 4
D 2 3 1

=N = W a

uguieo 1T
LOMHI6VLD
1. Gayenm
2. DSETTTAMUQTT
3. OPETH wHpId SubST0 LIgGseD
4. @uerom BBID BT LIPCHFID

@AEEIC]

griumeot

76. A sphere and a cylinder have equal volume and equal radius. The ratio of the curved surface

area of the cylinder to that of the sphere is

A.4:3

B.2:3

C.3:2 D.3:4




77.

78.

79.

80.

@ GCamend @@ 2 (Hewenub &0 &1 DleTMEUL|D &0 THOSULD  6leTennt (Beierme. SIbS
o (mewenmuiledt euewenLFLi LoBEID Camend e suenemuIlLdEG SenL Guiwmer al&lHb

A.4:3 B.2:3 C.3:2 D.3:4

Two numbers are in the ratio 3 : 5. If 9 is subtracted from each number, then there are in the
ratio of 12 : 23. What is second number?
A. 44 B. 55 C. 66 D.77
@yewih eewideT 3 @ 5 ewiB alHHHFHe0 o efener.  DbSH @EICUTH eTewTeNI SHBHID 9
BPHHTL, DbDH 6lewide 12 : 23 eap alHHHH0 BHEHGW. DibDH ETCHILTEUSH 6T6RT 6163160 !
A.44 B. 55 C.66 D.77

A bag contains coins of X1, %2 and I5 denomination in the ratio 2 : 3 : 4. If total amount is X
280. Find the number of coins of 35

A. 20 B. 30 C.35 D. 40
@ emuufed X1, T2 and I5 cuewsuievrer HremiwimkissT 2 : 3 @ 4 aaip aldlahHed o senal. GLTSHSHS5
OFTensuier iy I 280 eefled, I5 W IN60TET [HTERTLIBIBENGT CTeWT6NNHMD 61651602

A.20 B. 30 C.35 D. 40

The present ages of A, B and C are in the ratio 8 : 14 : 22 respectively. The present ages of B. C
and D are in the ratio 21 : 33 : 44 respectively. Which of the following represents the ratio of
the present ages of A, B, C and D respectively?

A.12:21:33: 44 B. 12:22:31:44 C.12:21:36:44  D. None of these

A, B oppid C syl cpouflen spOUTensW auwigisen (wenp@w 8 : 14 : 22 aiaiip aldlssdHed ©_siTernen.
B, C wppib D eyfBuimfler sBGLTensw suwigisen (pepGui 21 : 33 : 44 aietip alldHHe0 o_siTerne.
Hereumeueeupmier ehd @aipl A, B, Cppid D o@@umfler spCurensw auwig  eldsmisamend
GBILIGLD?

A.12:21:33:44 B. 12:22:31:44 C.12:21:36:44 D. 8eweu gaiblledensv

A started a work and left after working for 2 days. Then B finished the remaining work in 9
days. Had A left the work after working for 3 days, B would have finished the remaining
work in 6 days. Inhow many days B alone can finish the work?

A. 5 days B. 6 days C. 10 days C.15days
A gm umfleowsd OFHTLmE Brewi mET&eT GFuigk ol (G Ueem OFam olGamrT. ererm B

TiBsapsiten uellenw 9 BT sefled QFUIH (psHH aBGEmTT. A, 3 BIlseT uml Osuls LIk

81.

CFahbeHTeL, WHueen uemilenws B, 6 priseled Gauig wsHEHmiurt. B i@ selwurs
OIhH Ceaumevenul e1HHemedt BT H6ifled QFUIH (PIYdHdH (LPIQULD?
A. 5 prsefled B. 6 B _sefled C. 10 pr_sefed D. 15 prsefled

The diurnal range of temperature is maximum in the

A. Jaisalmer B. Delhi C. Mumbai D. Chennai
Hewgfl Ceuin alwrid SiFHswrs sTeorLGL G b

A. Qeu1 gmeoLof B. G606l C. apibeni D. GFetener




82.

83.

84.

85.

86.

Inclusive growth as enunciated in the 11 Five year plan does not include one of the
following

A. reduction of poverty

B. extension on employment opportunities

C. strengthening of capital market

D. reduction of gender inequality

&0 CETEHBUILLL meUBEHeT USHORMITouEH MbSTam B HLSHHe0 aeluBISSLILIL L 2 6Tl
auen&FAulled CaTbasliLLTsg a15?

A. aupiewio Gl

B. Geuemev eumuilisenenil GLIhHEHEH60

C. cpevspard Fhandmwl eI ILIBHESHSIH60

D. umellen BB SHTDaBMETSH (FHMMBEHH60

Consider the following statements

1. 1st Five Year Plan was based on Harrod Domar Strategy.

2. 2nd Five Year Plan was based on Nehru-Mahalanobis Strategy

Which of the statement(s) given above is/are correct?

A.Only 1 B. Only 2 C.Both 1 and 2 D. Neither 1 nor 2

SDBHEWIL FnBDIHM6T LTTUIS.

1. (pzeomd MbHTD opewi  SHLLd emmyrl  GumoT o SFHlul  SiglimLuins s meni(h
SIS BLILIL L )

2. @yewiLmD bal Spewi(hd SHLLb Chm OoanssuCarTilen 2 SFlemul SigliLenL WTHds ClaTemLH
BUBBIGT 61HI, eTeme &l

A. 1 @b B. 2 w @ C. 1 B 2 D. 1 b 2ib §svamev

Proclamation of emergency is based on

A. Recommendation of Council of Ministers

B. Written Recommendation of Council of Ministers
C. Written Recommendation of Cabinet

D. Recommendation.of Cabinet

DIQUFTHTEL FLU LD eTHemgliLienl_uled o eiteng)?

A. gimw&Fmalb@GUoalet UfbHoiemy

B. smwssrameais@ el apsailiuTal Lfbsieny

C. gwsFssewaler s(psHHIiLTen Lfbaleny

D. omwsssapaier Lfibaieny

Under which Amendment Act, Article 43B and Part IX-B were incorporated

A. 96t Amendment Act B. 97th Amendment Act

C. 94th Amendment Act D. 98th Amendment Act

b FULSHMHSHBSHGT L FULdbdmm 43B wppid ugdh IXB oudwmer @enentdbaliul (Heiermer?
A. 66ug FULSHHSHBLD B. 976ug 5L HHBLD

C. %eug UL SIHSHILD D. 9%Beaug gL SHmSHHD

Under which Amendment Act was Article 349A inserted into Part XXII of the Constitution?

A. 55th Amendment Act B. 56th Amendment Act
C. 57th Amendment Act D. 58th Amendment Act




87.

88.

89.

90.

aphd  FLLSHBSBSHY  opfwevmoii]  FlLHar  ugd XXl  FlLdgmm  349A
B enemntbHLILL (HeiTengl?

A. 550181 FULSHHSSHD B. 560ug 5L &FHHSHIID
C. 57ug FULSHHSHPID D. 58eaug gL SHmSHID
Consider the following Statements

L Official Languages are dealt in Article 343 to 351

II. Official Languages Act was enacted in 1963

II.  B.G Kher was appointed on chairman of official language commission in 1955

IV.  Parliament constituted G.B. Pant Committee in 1957 to examine report of official
language commission

Choose the correct code:

A. 1, II are correct B. I, II, III are correct
C. I, III, IV are correct D. All are correct
LI&STeU(HLD FnBEBIHEN6T DLUIH

L ol F GomflseT - FULEImM 343 (1pH6e0 351 eueny

II. gl QomflaeT UL 196391b SLemiG SUIBBLILLL &I

OI. o dl Gumfiser symenuubsien Hmeveusms 1955940 ouemi® B.G. Q&T Blunbdldasiiun L

IV.  GB. upsd smemwuleoner - Gpealemer HTILTEHOSBLD 1957840 uewi®  ou & Gomfisen
ST GUISS Spe] CFUIW Biwddhss!

SeuBpiei
A LI &M B.LII I &M C.L LIV & D. smarsain o
Name the Indian who received maximum number of Grammy Awards
A. A.R. Rehman B. Pandit Ravishankar
C. Zakir Hussain D. Ustad Bismillah Khan
Spmdl almEHismen SiFsenaled GLBM  Ab& i
A. AR. gamiomest B. uewngl” yelgmist
C. rdlT amrengesr D. o evzrs Llerdifleve0r Hest
Mention the hills present in Vellore District
i. Javvadu hills ii. Elagiri hills
iii. Ratnagiri hills iv. Kalvarayan hills
A.ialone B.1i,ii C.1,1i, iii D. All of these

GougrriT TAIL L HFH60 SIELDHSHIGNTENT  LDMEVHMET  (GHMILILI{H
1. 236UaITEHl OGNV ii. geudfl emev
iii. gHendlfl emev 1V. S6LEUTUIGT LDEN6V
A. 1T w’ @G B.i,ii C.1,ii, iii D. 8ot Siemengsibd

Which country has became the first country to eliminate the transmission of HIV and

syphilis from mother to baby as announced by the World Health Organisation (WHO) on 1
July 2015?
A. India B. Cuba C. Canada D. South Africa

® 0% &GHTHM [Hipleueid grenev 1, 2015 oeip  Spfeldhslerenlg, aFmel B FHilederd
Gpruiseil STWILOGBHS GWHMSEGL LUTemS PHBBIeIDTS SBSHSI66T (LpHed BTG 6157
A. @pFHwr B. &wur C. sem D. Qzer oylifdasm




91.

92.

93.

94.

95.

96.

Which Indian City was in July 2015, chosen as “City of Music”
by UNESCO under the Creative Cities Network?
A. Guwahati B. Chennai C. Varanasi D. Kolkata
95d baIEB6T eaumevwenliled (Creative Cities Network), wGerev@asr oienioliienmed, ‘Sena
BEID B 2gPmev 2560 CHTHOHBHHBLILLL BhHUl BSID 6157
A. Qzenamrsg) B. Gaetenen C. aunmgemmd) D. Qsre0sssT

Who was the first person to use the term ‘hartal” in 1919?

A. B.G. Tilak B. P.C. Joshi C. S.N. Banerjee D. Gandhi
191981lb QABTHT6L 616HM EUTTHMBHMU (PSHET(LPSHe060 LIWaTLBHSHSWLeuT?
A. 0.8, FeosiT B. 19.4. Gxmrag C. etorv.erar. LITeITRY) D. smhd

Who described the 1935 Act as “thoroughly rotten, fundamentally bad and ;cotally
unacceptable”?

A.J.L. Nehru B. V.B. Patel C. M.A. Jinnah D. M.K. Gandhi
1935810 Sewih FLLHmFH “afewimer, ogliLienLuled SHeummer, (WHBMIeID gBpIbbeTsTen  SuleoTs
FULID” eTeudbanmlwieu?

A.J.L. Gmrm B. V.B. uG@red C.M.A. esrevmm D. &g
Absence of true nucleus and membrane bound organells - these are the characters of
A. actinomycetes and cyanobacteria B. actinomyeetes and fungi

C. fungi and cyanobacteria D. fungi and protista

“Ozefleutenr o I s LOBHID Felelemed GOLULAS 60 2 mitiseT” @enel STeIlLBeISI.
A. ou518ameindl e opmid FwBammurdleflwr B, @ysiGammeniodl 60 oBmId Lehens

C. yehams wmpd FwBemmurdiefluw D. yehews wmpid yGrmgerdLm
Find the wrong pair.
A. Puccinia X Parasite
B. Rhizopus - Saprophytic
C. Spirillum = Chemosynthetic
D. Euglena . Myxotrophic
SHEUBTE EenewTenUid HeuorL_nsl.
A. usgailwmr - &L (heusTemf
© B. enp@amuerd - FITW3165T 6v01)
C. eroemuifleveold - SCwom FpFlgdh
D. wéefet - &Gz Gymid
A can type 30 words in 1 minute and B 25 words in 1 minute. First A typed for 1 minute then

B typed for 1 minute and so on. In this way, typing alternatively they 600 words. The time
taken by them in typing these 600 words was:

A. 22 minutes B. 21 minutes C. 21 min 48 sec D. 21 min 25 sec

A, @m HOLSH0 30 aunTHmssmeand HULFEH GFwieutt. B, @m HIOLSH60 25 amTHmBHHmens
SLLES Gauwieunt. wpHeled A e BOLD &HlLFs Csustt, Ueem B om BOLb HLFs
CeuwimTT. @eleuTpTas SeuTse sl M SULFS OFuigh 600 amTHmsdsmend SHULFSH CFUIH
WSS  BbsH 600 aumThHmbemens HLLFFH OCFUudBE DieuTHeT 6ihdHHd OBmemni GHyLb:

A. 22 BiflLmiselt B. 21 Pl miseri

C. 21 Puilmimeir 48 alenmig a6 D. 21 plfimisen 25 ellenmigseit




97. Pipe A can fill in 20 minutes and Pipe B in 30 mins and Pipe C can empty the same in 40
mins.If all of them work together, find the time taken to fill the tank
A.17 1/7 mins B. 20 mins C. 8 mins D. none of these
A gurui 20 Pl miseflsd Briiudmpa. B @t 30 Pl msefled Byiydpg.  Bws C @omul, 40
POl msefed &6l OFuigd  al@Bb. e6eveuT  GHWTUISEHD @amTes Caibg  Goumen  OGFuiwig
OeHTLmSeme0, ObHH OHTLIgenwl Bl FUISBEG UGS ChrrsHmBHd SIS L.
A. 17 1/7 P misei B. 20 plol_miseit
C. 8 PlilLmiseir D. 8ampled e1giails0enev

98. Study the following Histogram and answer following question nos.
Ueateurhd  UFeued  OQFeleuslULLD  uMJLULSHmSHSH sauadidhdH  llBG, S6p  OBThHEHSLILL (BeiTern
MBS EHDHE alenlL WieMobHa|LD.
10

No. of students —#
(8]

NN

o
x|

30 40 S5O0
Marks —»

The maximum number of students got the marks in the interval of
OIHD  eTewIenllHemdUTeuTenr LOTEmTeUTHET 61hg Seml LA IGLIeWIH6T60 2 6o,

A.10-20 B.20-30 4% U g0 D. 40-50

99. In a certain country, allocations to various sectors of the yearly budget per ?
1000 crores are represented by this pie-diagram. The expenditure (in ) on Agriculture is

Education
a80"

A. 250 crore B. 150 crore  C. 300 crore D. 200 crore

@ GBUUILL BILYed, @ SLemNge auJe| 0Feeldh HiL WLHIT 1960, LeOGMDI HINBEHETHSHHTE
a16E0He, 1000 Gamgsenmmas 1T eumBDd U - eIULGH  CBTBSHSBLILL BHeTT6re.
Gouenmemteniodsren GFevaiend (I wdinled) _ oy&ib.




Agriculiure

Education
a0-

Defance

A. 250 G=mg B. 150 Gzsmg  C. 300 Gamig D. 200 Gzmg

100. The present population of a city is 180000. If it increases at the rate of 10% per annum, its
population after 2 years will be:
A. 207800 B. 227800 C. 217800 D. 237800
Q(hH BEISH SBOUTMSHW HH6T COFHTens 180000 SuGL. BFH @b umibdHEG 10 FSSHLD 6163
aiBpHH60 DHBMHHTL, 2 UWIBHHOT BLHHH DIHe DHH6T CFHTend eleleuTBl BHHESLD?
A. 207800 B. 227800 C. 217800 D..237800

101. The first feminist in India was:

A. Raja Ram Mohan Roy B. Rabindranath Tagore

C. Debendranath Tagore D. Keshava Chandra Sen:
@hgHunaier (pHeo GuemremiuleuTd?

A. @yregmymb Gomaest [l B. @nipbanmng SnanT

C. BxBupbATHTH HTaniT D. Bzsgou shgly OFes

102. Which movement started.as movement against reduction of rent and grant of permanent
tenure in land, but later on assumed a communal completion?

A. Moplah Revolt B. Santhal Uprising

C. Kheda Uprising D. Indigo Uprising

Blev FrHmHS CuIITLL TS OHTLMES auGliyeurs Fmwid s L Gurgm’iLib erg?
A. omlient. &leng B. smhged Senisd

C. Gy densd D. 8angBsr denidd

103."As per an announcement made in August 2015, which district of kerala is on its way to be
declared as the first total HIV/AIDS literate district in the country after a special project
titled” Jyothirgamaya” was implemented with the co-operation of 91 gram panchayats and
four municipalities in the district?
A. Palakkad B.Ernakulam C. Erode D.Thiruvananthapuram
B0 201560 GuomOstereniu’ L @  omlalldey, Gsyenmeler ebg wTeul L, 91  &gmo
oaym’ Feelm oBEID HTerd Cuepyml fseflear sl e “‘CoragliTamown” eem Fmpliysh S LD
QFWEOLGSSIUL LG DbHBI BT 19CuBW eaFmal / el ed Snfley GUBM (LPHeVTAIGI LOTEUL L DTS
SflelSSILUL HWTITES 2 6iTerngl?
A. umtevsanH B.eremim@end C. ®GByr D.gmeuedbsLrid




104. The birth centenary celebration of Rani Gaidinliu was inaugurated by Prime Minister
Narendra Modi on 24 August 2015. On this occasion a commemorative coin was released to
recall Rani’s contribution to India’s freedom struggle. Rani Gaidinliu was associated with
which India state?

A. Assam B. Tripura C.Nagaland D.Manipur

s  whHf BEEIHHT Guomouimed 24 ouHer0l. 2015 @@ grew  OsuigeredueleT HIBBTew(H
UIpbhe BTeT CaTewiLmLmisel OHTLmS meaudbslu’Lear. @bsHd CaTewim L miseafer Henereurs,
@bdHwraler sshHHIL CUIITLLSHBES ByTenll uBmpsluleien Lmns Hevere| Fapleud euensuiled (b
Bemer aleveney Oeuefluil i’ L gl  grewll Osuigeaellu] @psHumels 6bhd IHeSCHTH OFHTL T
OlsmenorLeuT?

A. 1erveomd B. gfiygm C. prameonbal D. wewfltiyr

105. The Cauvery River Water Tribunal and Cauvery River Water Commision were established
respectively in

A. 1990 & 1996 B. 1990 & 1997 C. 1992 & 1997 D. 1990 & 2000
&MGeufl B BT Qemeorid wBEID STCuf BFH BT G CHTLRSILILL SenBH6IT (PenBGL
A. 1990 & 1996 B. 1990 & 1997 C. 1992 & 1997 D. 1990 & 2000

106. Which among the following is called as Ecological Paradise?

A. Sunderbans B. Gulf of Mannar

C. Gulf of Khambat D. Lakshadweep

LeSTeu(heueaTauB®IeT FBBIFGHI060 OCFTTHSID 1B DMPSBLULBISBI 6157
A. SpHIHyeuetdsTHB6 B. weitemit suemem@Lm

C. ambBu eaumen@LT D. @l s Fay

107. Consider the following statements
I. Lokayukta was first established in Maharastra in 1971
II. Odissha passed the Actin 1970 but Lokayukta came into force in 1983
Choose the correctcode:
A.Tonly correct B. II only correct
C. Both are correct D. None of these
LI&STQU(HLD  SnBIHEN6N LIS
L wasmmedyrssed 19719b ewiB Goord UISST 2 (HeuTdhsSLLL L I
II. 1970810 oewih uaTalsd Geord SLUGSHT FULID QUBBLULH 19838940 SLemiB HenL (PedBHES

MbSS!
Beunpien
A . Tw G & B.II wi @G &M
C. gyewipid & D. 8mei g&ideveneo

108. Consider the following statements
L. CVC was established in 1964 by executive resolution of Government of India
II. CVC got statutory status in 2004
II.  CVC was recommended by Santhanam Committee
Choose the correct code:
A. T alone is correct B. I, IIT are correct
C.II, III are correct D. All are correct




LI&STeU(BLD FnBEBIHEN6T DLUIH

L DSHHUI D6MP6D HeWISBTENLIL] SHLENETUID 196481D DLewwi(h 2 (HeUTSHSLILIL L )

II. 200480 WHHW 26160 HEWIHTENNLIL SLMEWILISHBESG FUL DIBISSTID GUDBISILL L H
III. wHHW ea1ped HeHIHTEMNIL] DLENEOTULILD FHHTEID GUpalemmed UfbHIeDT GEFWIICILL L &)
Beubien

A. T w G af B. I, III & C.IL III &M D. smaisaip &

109. Consider the following Statements

I.  Human Rights Act was enacted in 1993

II. National Human Rights Commission is a Constitutional body

II. Human Rights Act was amended in 2005

Choose the correct code:

A. T alone is correct B. I, I are correct

C. I, III are correct D. All are correct

LeiTau(pld FnBBIBmeT DLU1H

I 1993eub spemi wealls o MenwssT FULD SuBBLULL &I

II. Bxpdw wealsy o MewseT GuemewTd @ DTFUVmIIL] FLULSHHTL 2 _[HEITSSLILL L S
III. wells o Memwsel FLSH0 200590 e HHSHSHWD CFILILLIL LG
AT o' @G & B. I, II sf

C.LII &M D. smasaid

110. Consider the following statements

1. IMF and World Bank both are Bretton Wood heir.
2. IMF provides long-term loan for promoting balance economic development.
3. IMF provides loans to eliminate BoP'disequilibrium.

Which of the statement(s) given above is/are correct?
A.land?2 B.2and 3 C.1land 3 D. All of these

SDBHEWIL FnBDIBM6T SLITUIS

1. uelteml_ (B HGHUWISLD BB 2 o0& eumid Ul Bgenihd L6 Ler o ligear eumfla

2. ueleml (B MHGHwisd: FAFD QUTHEMTSHTT eUeTTEFF D@ HeWIL STV HL T QIDHIGBHMBSI.

3. ae OFewe| Fwpemeoulsd Fwplemsoulaienwenl HaliTdbs LT (B BHWSD HL 6T 6UPHIGHI DS
B FHFBBIBEHeT 61FH / eleneu &l

A. 1 woBmnd 2 B. 2 wBmib 3 C. 1 wBmpb 3 D. 8mel Siemengsibd

111. The states with highest sex ratio in descending order are (2011 Census)

A.Puducherry, Andhra Pradesh, Tamil Nadu, Manipur

B. Puducherry, Tamil Nadu, Andhra Pradesh, Manipur

C. Tamil Nadu, Andhra Pradesh, Puducherry, Manipur

D. Tamil Nadu, Puducherry, Andhra Pradesh, Manipur

utedlenr @l&BHD SIFHHD © Wl THevmIGemeT @mmiE auflenall UBHHIS
A. yxFCam, ubdIily8said, FHODHTH, Lol

B. yzsiEGsm, s10bprh, ubITilyCsaibd, wemiliy,T

C. s00p16, oubAIilyCsaid, UgIFGFR, wewlliyf

D. sbprh, ussCsm, subArilyGsaibd, wewiliy,T




112. With reference to soil conservation, consider the following

1. Afforestation 2. Contour 3. Crop rotation 4. Terracing

Which of the above are considered appropriate methods for soil conservation in India?
A.1,2and 3 only B. 2 and 4 only

C.1,3 and 4 only D.1,2,3and 4

6T LUITGHISTLIL OFHTLTUTS  LleiauheleralBens DLu1s

1. &1® eueniliy 2. alerfliby 3. Wl SipBd 4. Ged HoNMD SIWLDSHFH6E0

GopasewtLsuBpieT SbAHWTaIBGL CUTHHBHLOTRIH 616015 HHSLILBLD 06w LITHISTIL (LPenB 61517
A.1, 2 wBpb 3 1wl Hb B.2 wBmib 4 wl @G
C.1, 3 wBmid 4 wL G D.1, 2, 3 oBmid 4

113. Match List I with List II and select the correct answer by using the code given below.

ListI List II

(Wild Life Sanctuary) (State)
a. Ranthambore 1. Rajasthan
b. Kolleru 2. Punjab
c. Abohar 3. Andhra Pradesh
d. Keibul Lamjao 4. Manipur

a b c d
A 2 4 1 3
B 1 3 2 4
Cc 3 2 4 1
D 4 1 3 2

uciguwed [ e, wlguied Il o et QU@ Laeu GBluihamenl LweLh S Fhwmer aleL g

BHiHOHBHBALD.
UL 1guied I L 1guiev 11
(euerr @ileUEIF FyewTTEOUID) (omBlevid)
a. gLt 1. gregerd g ment
b. GsmeuBevi 2. LUEhaLl
. SI6GuTamT 3. abArt rGsaid
d. Gauiyed eolbFTel 4. el iy
a b C d
. A 4 1 3
B 1 3 2 4
Cc 3 2 4 1
D 4 1 3 2

114. Which Of The Following Statements is / are Correct about The Vernacular Press Act, 18787
LIt Was Passed By Lord Mayo
II. It Came To Be Known As The Gagging Act
III. It Liberated The Indian Press From Restrictions
IV. 1t Was Replaced By Lord Ripon In 1882.
Select The Answer From The Codes Given Below:
AT&II B.II &IV C.I1&III D.III & IV




LereupeuasieuBmien eul Lmy Gmf gl 1878 umplw ampumiseled 61 / etemeu gflwimesg?
L @FFL LD GuGuimeuTed Geueflui i L gl

II. Tt (bF FLLID etediB3 GQUUWIHD BHBE6wI0

I1I. BFFL HOLBmT alevdd AbHu USHTDBHEHDHEG FHHHTD IDRIS WIS

IV. @55 Lgmg 188260 M6 Hebalemit

Beubiei

A T&II B.II &IV C.I1&III D.III & IV

115. The Women’s Movement in India started largely under the inspiration of

A. Mrs.Annie Besant B. Sarojini Naidu

C. Ramabai Ranade D. Muthulakshmi Reddy
@hHunaled OuenidsT @uidbsld CHTEIB SMTeIoTS  E)HbHEIT
A. 9\ael Qg6 B. #Cymedel mrw®

C. @ywrumui yrerGL D. wéaeol &l Qg

116. At what rate percent per annum of compound interest, annually, will a sum be 16 times of
itself in 4 years?

A. 400% B. 200% C. 125% D..100%

R GEUILL O0xTend, h RMBHEG 61HHMOT FHaIdH Fnl B alllguied 4 SLewihEHaied SiendLl
Gumev 16 LMIG SLGWD?

A. 400% B. 200% C. 125% D.100%

117. A sum of money amounts to ¥ 5200 in 5 years and to I 5680 in 7 years at simple interest. The
interest per annum is
A. 3% B. 4% C.5% D. 6%
Qb GUII L OsTds 5 eumLmmeied < 5200 ausad Guoad 7 eumLmseied I 5680 eysald
SIMLBMGH]. 61le0 Uy IFHD SLeIBDHE 61HHM FHATHLD
A. 3% B.4% 5% D. 6%

118. The difference between simple and compound interest on a certain sum of money for 2 years
at 4% p.a. is< 4. The sum is:
A. 2500 B. ¥2400 C.¥2600 D. ¥2000
@ GPUILL OTwadHE 2 UMb STSHHMBE FTHTI alllg BBID LB ally aihsHde0
L EGIBHILIBID OFHTmasEhdEE Bl Cuiwimer alsHuwngnd I 4 ey, DHOHTMS s6eialene)?
A. 32500 B. 2400 C.¥2600 D. ¥2000

119. Four different positions of the same dice are shown below. Find the number on the face
opposite the face showing 4 ?
A. 5 B. 3 C. 2 D. 1

@0y usenLuier 4 OQeueiGouml PHlemevdmer SO CETHHSLILL (HelTere. 4 WM 6T6eWI  ©_6iTeN
LSSHIH 6T THET o eiten eTewr 617

A. 5 :

rate «

Uy




120. Find out the wrong number in the sequence.

5,7,13,25,44,75,117

A.7 B.13 C.25 D. 44
Leitaupld OFHTLTeuflengulled SHeupmen 6T6wT  6T60T60T?
5,7,13,25,44,75,117

A7 B.13 C.25 D. 44

121. Consider the following pairs :

Minerals Largest Producer
1. Iron Ore - Chhattisgarh
2. Bauxite - Odisha
3. Mica - Andhra Pradesh
4. Gold - Karnataka
Which of the above pairs is/are correctly matched?
A.1only B. 2 and 3 only C.2,3and 4 only D. 1,2 and 3 only
eteu(pld CMmosenends HealeildhHaLD :
& 6UT DRI GTT SIFHBOTH ©_BUGHFH OFUILD LOMHIeVD
1. &mbys sral - F&HJH6r0HT
2. UTdbengL - RQFT
3. LT - opIrL LgGaaid
4. misd - SITBITL&HIT
Gomasemiaubmie ehdh Gmme / Gmmoser gFfluimsil @UITHHSUeTeTer?
A. 1w @B B. 2 wommib 3 1o (Bib
C. 2, 3 wBmib 4 1" Bid D. 1,2 ioBmih 3 " Bid
122. Which of the following pair is/are correctly matched?
Nuclear Power Plant State
1. Narora - Uttar Pradesh
2. Kakrapara - Maharashtra
3. Kota - Andhra Pradesh
A.Only 1 B. Only 1 and 2 C.1,2and 3 D. None
deiieumeleieuBpie o1hd Senewt / Senewidel FflwTasll GUTHHS U 6T6Ten?
Sl FHFH eV LOMBl60LD
1. mCymym - o HHI0 LgBxHaId
2. BT&HSBFUTJT - LOGUBITITAGLQIIT
3. GamiLm - opHT0 LGsHaid
A. 1w @B B. 1 woBmib 2 o Gid C.1, 2 wpmib 3 D. eigiaflevenso

123. Which of the following pair is incorrect?

State Population Density
I. West Bengal 1102

II. Kerala 859

III. Tamil Nadu 555

IV. Arunachal Pradesh 19

V. Mizoram 50

A LILIV B.L IV C.LIV,V D. 11, ITI, V




SDBHEWTLUBSIE0 HeUBTerr  Eeneut ?

LOMHI6VLD D&HBHET OFHTNS ILTH)

[. GumE eumismend 1102

II. Gasyerm 859

III. sWbET6H 555

IV. simeomgaeots 1LyCsma1b 19

V. 108gmyib 50

A LI IV B.LIILV C.LIV,V D.IL, III, V

124. Consider the following
UN Security council
i. Composition — 15 members
ii. 5 permanent and 10 non permanent members
iii. All 15 members have Veto powers
iv. 10 Non permanent elected for 5 years term
A.1,1ii are correct B. i, ii, iii are correct
C.1,1i, iv are correct D. All are correct
LeiTau(meueauiBens LIS
e0.BIT. UTHISTLIL| FewLl
1. 15 2 _miiiermsemen 2 eTenL &g
ii. @0 5 Pybar o puniemser BB 10 SBETIS -BIILN6ITS6T SL6uT
iil. oemaisa 15 o pileamsesd el CLr SdHeryd ClsTemsiL aITaHeiT
iv. 10 sBameds o pIIalTsEnd 5 LGS EHSE @UHUPmB CHih0%H B ES LB 6T3eTT.
A1, il & B. 1,1, iii & C.i,1i,iv & D. smaiggid &

125. Consider the following statements
L. NDC was established in'1952 by Act of Parliament
II. NDC is a statutory body
Choose the correct code:

A. T alone correct B. I, II are correct
C. Both are correct D. Both are worng
LI&SToU(HLD. FnBUIHEN6T LIS
E 19529110 Sewih CHdw eueTTEFHAHG D BTLTEHOGNH FLULSHHTL 2 (HeUTHSLILL L F
I8 BaxFw eueni&dld GHLp @h FLL SEDOLILITGLD
Bauyiei
AT w G &M B.I,1I &f
C. @yemipo & D. 8yewiG Heuml
126. Special officer for Linguistic Minorities is appointed by president under which Article?
A. 349 B. 350 C.350A D. 350B
b FLLSSBlET L GYurss SHmeveuT Oomy  Fpureienoularmestear B OIeVI6e606D]
Bl sapT?
A. 349 B. 350 C. 350A D. 350B

127. Which of the following states attained direct state hood?
A.Haryana B. Mizoram C. Arunachal Pradesh D. Goa
LesTeu(heuemeummien 6lfhdh mBleod GBIy LOTHev HSSHemwll CuBBs?
A. amflwme B. @smyib C. amewmFFeoligBxhaid D. Gameur




128. Consider the following
I. Southern Railway has 6 zones
II. 4 zones are present in Tamilnadu
A. T alone correct B. II alone correct
C. Both are correct D. Both are wrong
LleTeu(heuameuBens LU
[. GoBe BrulsdBe 6 WL omGEMmeNT CEHTam (helTeng
II. SeuBplelt 4 LI 6UHIB6T HLOPSHH6O o _siTeTen
A. T wl@w &l B.II w'Gw &
C. @yewi®o &l D. ®yewihid Heumi

129. Find out the incorrect pair
A. Ennore — Thermal Power Plant
B. Kundah - Hydro Power Plant
C. Papanasam — Thermal Power Plant
D. Kalpakkam — Atomic Power Plant
SHEUBTET EenerTenild ST s
STERIETT - SjeuT60  LO6ITHlemeVUILD
GHST — BT 6T Hleneoudld
UTUBTFLD - 6060  LOGIHI6ne0UILD
SHOLUTHBLD - iew L06T [HlenevUILD

o0 wp

130. Find out the incorrect pair
A. Budget — James Wilson
B. Statistics — Mahalanobis
C. Atom bomb - Raja Rammanah
D. Vanamahotsava — Vinoba Bhave
SHOUBTET  BenenTenid BHeurl sl
A. paHBlemev gMflbms — Bmlberd aillevoaest
B. yemefluiwed - pameo@erilerd
C. ocmi@amip — SJTe3T FILo6IT6oNT
D. sueno@amigaoud - alGemmum LmGeu

131. Tamil Nadu is a leading producer of mill made cotton yarn in the country. What could be
reason (s)?
1. Black cotton soil is the predominant type of soil in the State.
2. Rich pool of skilled labour is available.
A.1only B. 2 only C.both 1 and 2 D. neither 1 nor 2
BT IGCBW gremevuied o MusHd QFUIWILLGL LHSHH HTeO 2 MusHsdluied SOIDETEH (LP6iTetenso
AUHHHBSH.  DHBBTET SHTIEWID [/ BTTIBIBET CIFIDTOUTS B([HBEGD?
1. oRleVGFHD SIFBOTH HMF6O D6 HTEILILIBOIBI.
2. 91Fs Senalevrer © 160 2 Pl QFHTPeoTenTaHeT @miE o 6iT6meT.
giiwmer allewLemwd CHTHOSHBHHBALD.
A. 1wl @b B. 2 o (b C. 1 wBpib 2 D. @yewipGo  Bsvensv




132. Which is the most important characteristic of the Golden Quadrilateral?

A. Connecting four major cities of the country

B. Providing port connectivity

C. North South corridor

D. East West corridor

SIS BTBRBT FTEN60UNGHT (LPSHSIUIDTET SHIDFLD 616016017
A. BTl gesT Bresig QUi HBIBISm6T SenantshH B
B. sieopps Qemewilil] aIDHIGH MBS

C.aLse 0sB@ uTds

D. S Gumbe utams

133. Which state led in employment generation in manufacturing sector in the country in 2012-13,
according to and analysis released by the Associated chambers of commerce and Industry of
India (ASSOCHAM) in August 2015?

A. Madhya Pradesh B. Tamil Nadu C. Maharashtra D. Gujarat

BhHU aTHHs WLBBID OFTH aTsss Fhsmseiea gLy (ASSOCHAM) el 201560
Geueflil L spuiapidenasuiely, 2012-13 &m0 SLLSHHO o BuUSHHH CHTMieded ©iHs Couemev
QUTUILIL|BHEMET © (HeUTedha], (LpeTerenfiuiled S LOMHI6VD 61ghI7?

A. wgsHus yGsxhab B. s10mrH C. srymadgym D. ggrs

134. Which state government on 31 August 2015, inaugurated the state’s first One stop centre,
known as Sakhi, that will play a role in helping the women in distress?
A. Bihar B.Uttar Pradesh C. Haryana D. Rajasthan
BWTHH6O MBI OUMIBEHDHEG o FHaludhBsTd, 8 (Sakhi) ee@m DDWSBILGBD, DIDTHH
Gremeusemenud OFUIWLSIIQUI  DTHELHSH M (LPHEUTAIH @MeDB  MIDUIHMS 6lhdH OMHlev oId 31
B0 2015 eyl OFHTLMIS meUHHSHI?
A. & B. 2 sam11 11j@sF1b C. amflwimert D. gregerogmest

135. Match the following :

Cell wall Wall material
a. Bacterial cell wall 1. Lignin
b. Plant cell wall 2. Chitin
¢. Fungal cell wall 3. Peptido glycan
d. Secondary cell wall 4. Cellulose
a b C d
A 1 4 3 2
B 3 4 1 2
C 3 4 2 1
D 4 2 3 1
GPRUWIGsmeT ] LWETLGSHS Deneniss.
OFevaaT FUTLIGLIT(H6IT
a. umklefwl QFed GeuT 1. e0defesr
b. sreuy QFed geuT 2. L1968
C. Uehmauler OQFe ST 3. QuInyBL T enera 6ot

d. @yewimbd Mlemev OFed Geu 4. QF60aIBeuTerd
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136. Find the next term of the sequence:

1,4,27,256,3125, 46656, ?
CamLfar SIbHd © BIdLS HTEwIH:

137.

A. 117649 B. 279936 C. 705894 D. 823543
5 6 7
3 4 5
9 10 11
345 | 460 ?
A.535 B. 577 P D. 775

138. For the following data -1,1,0,2,3,5,5,6,8,10,11

A. Mean = Mode =Median B. Mean = Mode
C. Mode = Median D. Mean =5
eteumd Lelterll eleugmisendsa -1,1,0,2,3,5,5,6,8,10,11

A. ggnafl = pwaB = DL Blenev B. ggnafl = (wa®h
C. waB = BaLBemev D. ggnafl =5

139. €jo, tyd, ins, xch, ?

A. nrw B. mrw C. msx D. nsx

140. A, B, C, D, E and F are sitting on the opposite sides of a dining table, three on each side. B is

between A and C. The politician and the Businessman are at the extremes of one side. E is a
Military Officer. C is a professor and is by the side of the Doctor. The businessman is
opposite to the Engineer. The Doctor is in the middle and is facing the Military Officer. Who
is the Doctor?

A A B.B C.C D.D

A,B,C D, Ewpgid F @m Goengmuied capsip GuiT @b usSHTs 61T 616 Sioibaierenent. B
aeeut A wppd  Cdg  mhalsd uThgeTentr.  oFfuedeurdubd,  euemiamD  BTewi®
s &CaMouiled oiThas Bmbsert. E eeueut @yramien oi@srdl, C ereueut Guymdflwim, Seut
LUSLT SI(HPe0 SIOTHSHHHSTT. euenlls, GUTSWmen(heEG IHTILSSESHH60 DIDTHS(HHSTT. LTHSLIT

BBal6d SITHSH(HHSTT. DeuT @ITamiel SiFHsTienw UTTHHUTHI  DIDTHSHHHSTT 6leafle0, LMSLIT
wirir?

A A B.B C.C D.D




141. Which of the following statements about the World Wide Fund for Nature is/are correct

i. Founded in 1961 ii. Headquarters — Switzerland

iii. Symbol — Panda iv. Organise earth hour yearly

A. 1, 1ii correct B. i, iii, iv correct

C. 1, 1i, iii correct D. All are correct

LeTaupeuaiauBmiel QuIBemndsaTar 2 eodbemmaiuwl BFwid uBplu gapmiseled ez / eeneu Ffl?
1. Gam_ssbd - 1961 ii. HMEVMDWHBID - Fall FTeThHS

iii. dlefieond - LTEITLIT iv. oeBhCaHTmID Uel CHIsHems BLSHHSBH

A.i,ii &l B.1i,1iii, iv &

C.i,ii, iii & D. smaigaid gl

142. Which of the following states has the highest density of roads?

A.Kerala  B. Karnataka C. Goa D. Tamil Nadu
esteu@pld omHlevmIBefled 6160 DIFHB DILTSHIWITT FTN6VH6NT 2 _6iTeNTenT?
A. Gzenm B. sTmrLst C. Gameur D. s10pmrG

143. Arrange The Following Organisations In Chronological Order
1. East India Association
2. Landholders Society
3. Madras Native Association
4. Bengal British Indian Society
5. British Indian Association
Select The Answer From The Codes:
A.2,3,1,4&5 B.1,4,3,5&2 C354,1&2 D.2,4,5,3&1
LeiTaU(hlD HLpBMIGBM6T SHTevalflenF LB H SIS
1. FsabHHu HPSLD
2. [HOVFFHUTHIBT FRISLD
3. Ogawen &6sHg gFmisd
4. QURIBTEN RIS @bdUl SLPHLD
5. Spnd @hHul SOsLD

BeuB e
A.2,.3,14&5 B. 1,4,3,5&2 C354,1&2 D.2,4,53&1
144. Who became the president of the All India states “‘people” conference in 1939?

A. Subhash Chandra Bose B. Jawaharlal Nehru

C. C. Rajagopalachari D. Mahatma Gandhi
SIF0 BHFHW MBIV W&HEET WIBTH Hmeveusmd 193960 BHTHoHBHSILL L 6u?
A. sured ahaHpGumerd B. meuanitevmed Gm(m
C. 4. grBamumeorgamwimi D. wargior b

145. The dimensional formula for gravitational constant is .......
A. M1L3T=2 B. M-1 L3T-2 C.M1L3T=2 D. M1 L-3T2
mTU w0 ompsledluflesr Lifliomesor  eumuitiLm@  -------------

A. MIL3T=2 B. M-1L3T-2 C. M1L-3T2 D. M1L-3T?2




146. A block of ice in a room at normal temperature.....
A. does not radiate
B. radiates less but absorbs more
C. radiates more than it absorbs
D. radiates as much as it absorbs
Buwieol Qeuliupleneouied LefbaLl g @ DEDBUlaIET MeUSBLILILIQHULNET iG] -------------- )
A. A1 elgng
B. oopans s3T aiadpg. oueomed DIHE0TE 2 U SaIHB MBS
C. 2 I saumamsal. DHB0ME SHTaisd
D. 2 (L saumbd o6 sHTaiHbd

147. Consider the following with regard to International Court of Justice
i. Headquarted in The Hague (Netherlands)

ii. Composed of 15 Judges

iii. Elected for 9 year term

iv. Elected by UN General Assembly and Security Council
Choose the correct code given below
A.1,1ii are correct B. i, ii, iii are correct
C.1i,iii, iv are correct D. All are correct
2 608 BHAHWSMD GHTLTUTeT LeTeubd snBpisemen Su1%
1. FHmeuamowislD Camaled SiewnpHEIeTendl (OhSHTEUTHESI)
ii. 15 pauglsamen o siTenL SIS
1. 9 SMIBsEHHS PHWB CiThH0\%H[H &SLILIBHESIM60IT
iv. mprelar Gurg Cureweu wB®ID LUTHISTUL FenLulemed GHiTh6\% B dE ILIBE GT36IT.
BouBie
A. i, i & B. 1,1, 1ii & C. 1, iii, iv & D. smaiggid &

148. Match the following

a. Rashtriya Mahila Kosh 1.1993

b. Swayam Siddha 2.2001

¢. Dhan Eaxmi 3. 2008

d. Janani Suraksha Yojana 4.2005
a b C d

A Wl 2 3 4

B. 2 3 4 1

C. 1 2 4 3

D. 4 3 1 1

QUT(HSHIB

a. gmaggflul wdenm Carad 1. 1993

b. eveuund Hgsm 2. 2001

C. B VAL 3. 2008

d. meiel sydagt Guiregent 4. 2005
a b C d

A 1 2 3 4

B. 2 3 4 1

C. 1 2 4 3

D. 4 3 1 1




149. Index ‘Residex’ is associated with

A. Share Prices B. Mutual Fund
C. Price Inflation Index D. Land Prices
Residex er1aiiug) eIbail 651 GBHTLTLEnL Wi

A.uRig alenev B. ugeduy @&

C. veweiss almevd @Guib D. oo aflemev

150. Which State of India possesses the maximum number of factories?

A. Maharashtra B. Tamil Nadu

C. Uttar Pradesh D. West Bengal

abd BpHFHW Ipeod SHHS OFHTHBFTREVHM6T O\BTETIY(HbHH?
A. oammrTedQrid B. s0wnr®

C. 2 58mly8xs1bd D. GuoB@ eumisTend

151. The Provisional Government of Free India was announced by
A. Veer Savarkar in U.S.A in 1944
B. Subhash Chandra Bose in Singapore in 1943
C. Rash Bihari Bose in Singapore in 1942
D. None of the above
GoHIHT BhFHwmalea HBaTels SiFmnd SislaldsHeuT
A. 19449110 ouemi® ofy FamTesT - S6IfbaT
B. 19438110 spemi(p aiLmed FhayGUTed - FmisLLT
C. 19029b spemi® grad Laml Gumerd - FmisbliyT
D. @i gaiflevenev

152. Arrange the following in Chronological Order:

I. Chelmsford 1. Wellingdon
III. Wavell IV. Irwin
V. Linlithgow VI. Reading
A LILIIL IV, V, VI B.IL, 1V, I, VI, V, III
C.I, VL1V, 1V, III D.I, VL 1V, II, III, V
L160T6U(HLIGNTEHEMET SHTevalflenFLILIBSHHISH
1. Q&werdGumT(H II. QeuedmiL et
III. Gaveued IV. @raler
V. a9a1605851 VI figmi
A LILIILIV,V, VI B. 1,1V, I, VI, V, III
C.IVLIV,I1,V,III D.I, VLIV, II, III, V

153. The fundamental principle underlying the working of parliamentary system of Government
is the
A. Principle of Individual responsibility
B. Principle of collective responsibility
C. Principle of Independent Judiciary
D. Principle of Division of Powers
BTLTEHLOGIB ISBTULSSHDHE DIQLILIDL. HHHI6UD 616TLISI
A. mellGuTBIiL B. gnl_ GUGUTmICIL
C.pasams sahHILD D. sigdsmi udliey




154. Which among the following is wrongly matched?
A. Allahabad High Court — 1866
B. Bombay and Calcutta High Court — 1862
C. Punjab and Haryana High Court — 1965
D. Delhi High Court — 1966
LeTau(heueTeuBmIeT SHeUBTeT Eenenienuld Heuil ils
A. oeoamuTg o WiT HHmD - 1866
B. wbumul oBpid #se0sHHT 2 Wit HHwepd - 1862
C. ueham wppd esflurem o wiT BHSBL - 1965
D. GLebed o wiT mHepd - 1966

155. Consider the following statement about secularism:
L. It promotes religious philosophy
II. It separates religion from politics.
III. It denies state support to religious organizations.
IV. It opposes religious ideas and ideology.
Which of these statements is/are correct?
A.only II B.Iand III C.II and III D. LILIII and IV
&HF FMTieend OHTL LM LaieU[bD SaBBISHen6nd HeleaddHa|Lb:
[ o FOUBSLOTET HEHSHICUMBIBENET CUETITE S BHI
II. vgHma oflweisd Bmbal LIflbSBs.
III. 10 &y MOl EHEHSHE LOTHIVSHHET LSBT 1DBIGBBSH.
IV. vg shubsorer SHSSHISMENMULD SHHHLD CBTETMSSMETUD 6IHTHBBSI.
BBBIeT 6hHd FnBmIbeT FM?
A. Il ot B B. I wopmiw 1T C. II @b 1T D. I, II, III w@p IV

156. If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473, what
will be the code for SEARCH?
A. 246173 B. 214673 C. 214763 D. 216473
ROSE e aumigeng 6821 eeoipitd CHAIR et aunigeng 73456 eiedipio PREACH  etets
aTTeHemd 961473 etaiipid eripsiiu Lmed SEARCH eiadi3 aunfidengdenul eleleumml 61(pgleumu?
A. 246173 B. 214673 C. 214763 D. 216473

157. Manoj and Sachin are ranked seventh and eleventh respectively from the top in a class of 31
students . What will be their respective ranks from the bottom in the class?

A.20th and 24t B. 24th and 20th C. 26th and 22nd D. 25th and 21st
31 mewieuidenem GamewiL @b euGlled wGemey wBmIDd F&Hefer Hyeauflenswnerg Ged(hbaI
woBBw  gmaugl  Bpd uHCampreustes AmbHenT. Selelmeufear  HreuflenFuwimerg
s Fulel(Hha eleTarelTsd @mHab@GWn?

A. 20th, 24th B. 24th, 20th C. 26th, 22nd D. 25th, 27st

158. Pointing to a man, a woman said, “His mother is the only daughter of my mother”. How is
the woman related to the man?
A. Mother B. Daughter C. Sister D. Grandmother
QH SLWeTEF FL s ST, @ O @eleurn OFmeremme, “@eimenLwl HTul o6l HTUISHE Gy
D6 QLOUTT. SHFL Ut DHSH IS 6hHHeUMBUND 2 Bey?”
A. Ful B. el C. 58z1sf D. Guga)




159. If in a certain code '157' means 'Mother always affectionate’. '619' means 'Always fortunate
future' and '952" means 'Mother very fortunate' then which digit is used for 'future’' ?
A9 B.6 C. Data inadequate D.1
am sHCsx Gumpuisd 157" eaeaug 'Mother always affectionate’ wmpib '619' eteiiugy 'Always
fortunate future' wppid '952" eteiiugr 'Mother very fortunate' e @plssiGuBBTed, 'future’
GIEDID QUTTHMBMUIS GHWISELD 616017
A.9 B.6 C. sl Buweorgl D.1

160. What is the next figure?
oIbdHs LD eTeien?

TR T T tm oa ml—S - -

161. Which of the following Fundamental Rights is available to both the citizen and aliens?
A. The right to equality of opportunity in Public employment
B. The right to six freedoms
C. Cultural and educational rights
D. the right to equality
LeiTau(heuemaumled G LoSHEhdH@GHID Dl W(hBEGWD UDBRISILBLD SigliLien. o fend 61g?
A. Qurgl Gauemeveuruinied Fio eumuiti] GQumd 2 fenip
B. a1 aghbdymisensatear o feno
C. seor&gny wBmId Seoalgmm o Mepinseir
D. sidgien o fenio

162. Consider the following statements

L Right to Information Act 2005 provided for establishment of central and state
Information Commission

II. State Information Commissioners are appointed by Governor

HOI. =~ Composition — Chief Information Commissioner and not more than 10 Information
Commissioners

Choose the correct code

A. All are correct B. I, IT are correct

C. I, IIT are correct D. III only correct

LI&STeU(HLD FnBEIHEN6T DLUIH

L HHeUe0 QPuyd o Mflewp FULID 200561 LI DGHHW  OBHBID  LOTHEV  HB6UGD LeN6mTUIRISHEN
O (HeUTSHBLILIL L 60T

IL. LOMTHI60 HB6UD SLEMETUILD SLEBBITEL HIUILOGBSLILIBGH MBS

I1I. SHEMGUMID  HBEUL SLMWIWIT  BmID  106@ 10BTH HBEUD LEMETWITHET  HUILOSHSL
L Gauemt(hLd

Baubier

A. saisgid Fi B.I,1I &f

C. LI &f D. I w'@w &




163. Rainbow is formed due to the phenomenon of

A. refraction and absorption B. dispersion and focussing

C. refraction and scattering D. dispersion and total internal reflection.
uTeralled © (heuTsdd ST [HSHLD6]

A. gafalevsid o I &aITeHeibd B. mpiliflensuwd @elwienL Hevid

C. geaialevaaid FHHmevid D. pipidflensud ww o218 aglemefiiyb

164. Nichrome wire is used as the heating element because it has
A. low specific resistance B. low melting point
C. high specific resistance D. high conductivity
G&OLBmID Aemwwimes HHEITD LWSTLGSHSILGHIBSH. golareaisd, il
A. eopbhs WaHmL oew BTl gl B, Gombhd 2 (hbHlenew CamemiL g
C. 9ds WaHmL 6Tam QEBTemiL i D. 9i8s sLHID 616w QBT G

165. Which of the following was not an objective of the Panch Sheel?
A. Peaceful coexistence
B. Non-interference in each other’s internal affairs
C. Non-aggression
D. Efforts for world-peace and international cooperation
UesteupLeuBmIel LehgFdev Gameiiensulled @)L 1DOLBTSHSH 6152
A. pTBsERHHmL_ G DUl BlewevhTL L 60
B. s mriger o 6 ealeusmymiseied Hemeou i menLo
C. Up mrlger g SuéATOl Gauiwmemip
D. 2 05 9imnd wBpId FTaBhsF @BUIEHLOMU HEDEVHTL L 60

166. Who among the following was the Finance Minister in the Interim Government headed by
Jawaharlal Nehru?

A. M.A. Jinnah B. Rahamat Ali

C. Liquat Ali Khan D. None of the above

malanTeoTs0 ChHaler @ SHsHme0 mFFTmaulsd B IDOLBBIHHS B DIDOFST
A. odasteunm B. yamig o6

C. dwrssd 60 Sres D. @mau ggiiflevenev

167. Sampoorna Grameen Rozgar Yojana (SGRY) was launched in 2001 by merging
A.JGSY and EAS
B. TRYSEM and DWCRA
C. MWS and GKY
D. NREP and RLEGP
oaihs  Sgmo  Geuemeveuruitny S (SGRY) 20016 eI LBIBmET  BenenisHdl
o _(HOUTSBLILILL S
A. JGSY & EAS
B. TRYSEM & DWCRA
C. MWS & GKY
D. NREP & RLEGP




168. Sania Mirza was conferred the Rajiv Gandhi Khel Ratna Award on 29 August 2015. In this

context, which of the following statements is/are correct?

I.  Sania Mirza has become the second tennis player after Leander
Paes to get the Rajiv Gandhi Khel Ratna.

II. The Rajiv. Gandhi Khel Ratna was instituted in 199192 as the
highest award for sportsperson in India.

A.Onlyl  B.OnlyIl C. Both Iand I D. Neither I nor II

GWwrgss HemevalT raflensulled 29 oudevl 2015 Seim BOLOUBB  HlapdFduled, gmeiwm

Oitgmeydd gmedel &Mhd Gaed FHemm al(hEh UPBISILL LS. LISUHD FEmBoibelsd 6k /  clene

gf?

[ wrmewiLm Lwasd DbHS Ugwns, Jredel smbhdH Gxed FHem  alhadl OUBID  ETeRILToug)

OLetellod efTmIGMmeILTES FTelwim LOTEFT ail6nmiEHalmmT.

II. @pguralesd elememum (g Sienpuled Hpbhe elemiEd elffsepssts We o wiw - almsis

1991-9260 gredlell HMbdH Cxev FHeom al(hgH OCBHTLMIS MeUSBLILILL S

A Tw o  B.II ' G C. T wopmid 1T D. 8yawiGG  Ssvensv

169. With reference to Lok Adalats, which of the following statements is correct?
A. There is no court fee for Lok Adalat
B. Lok Adalats can deal with matters which are civil and not eriminal in nature.
C. Every Lok Adalat consists of either serving or retired judicial officers only and not any
other person
None of the statements given above is correct
SIBTeVSH CHTLTYemL W LI6aIeUbD FmBpIsere0 e1%l. Fflmeng?
DSHFHET HHIGBHHMBEG HHIOGTE S L WD SHlenL WITH
Gourd  SIFHTLHHIH6T  GBBaled = OHTLTY @ebeoTs, Flalsd SHeilenld eUTUIHS UL ESHEN6T
ol GG algmids (Lpigujb.
@6lGeuTm  Geumd  SIGHTEOSHIHID UewNUTed 2 6T SHleLeLH Lewil @uie] OUBB  BHHHJHDB
DIIAILTHMET LD HGID  CBTewTY(HHEGLID, DBBEUTHET HIEV6V.
D. GG GCampésiLl L FmBBIE6T aHia|d Fiuledemsv

N Wpred

170. Which of the following Articles empower the parliament to legislate on subject contained in
the state List?

I. Article 249 II. Article 250
III. Article 252 IV. Article 253
A.Onlyland II B. Only I and IIT

C.1, III, IV are correct D. All the above

LOMBl6VMISET LI I9uIedled FLULID BUIBBILD DIHETIHNSH LTITEHLOMIBSHHMBES UPRIGLD FLLE Fnpl:
L. 5L sanm 249 IL. g1 1L danm 250

III. g1 1L dbgnm 252 IV. sl Lsamm 253

A. Topmpd 1T o Gib B. T wmipnd IIT ot Gid

C.IIL IV &f D. GuoBseniL.  SieneardhHid




171. The two lists given below contain the types of party system and their broad nature. Match
List — I with List-II and select the correct answer from the codes given below the list.

List-I List-IT
a. Multi-Party system 1. Contrary democratic principles
b. One party Dominant system 2. Limits freedom of choice
c. Two party system 3. Makes legislature more representative
d. one party system 4. Leads to democratic stability
a b c d
A 4 3 1 2
B 3 4 2 1
c 2 1 4 3
D 1 2 3 4

Weiteupld  @gewi®  LLIQUIedHeT  SLF  Sewwlduud — SleuBpsledl  LITeueOTe  GUIs0emLILLD
GBI (B esT60. urguwed — I & wywe - I o2& QUIGSHF, U puNESGS SO
Car@hassiiu’ Beren @luihsamen’ LweaLGSHS Fflwmer el emuid CaHiThHo\%HHHBMLD.

U guied -1 U guied - II
a.ue a4 emliLy 1. wrewiul’ L MenpTwss GoTL UTBSH6I
b. @ sld oiHEs Semoliy 2. CxMHOsBLILSBSTE & HHHTHDHS
SLEULIGHSIP DS
C. Qyami(p &L SewioLiL 3. FLLLOGIBSHMS SIFG LIFHBIEHHHIeUD CBTEwmIL HTH
ABGH VI
d. om a4 el 4. oaBTWLS Bleed SHETMIDGHSE aULHaIEGHH MBS
a b

OnNw>
— N W o
N = =W
LN PO
B W~ N a

172. Which one of the following was established to improve administrative efficiency of the
government departments?
A. Central Statistical Organisation
B. Organisations and Methods Division
C. Ministry of Personnel, Public Grievances and Pension
D. Ministry of Statistics and Programme Implementation.
&S SHeompsefleal FHifeuTsd Hpenwamuw! HHSAUUSBHTES LlaTeaurheuareuBmien o1& G TLmIsLILL L gi?
A. wsHw yeeflulwed oiemioliy]
B. @mwliyse opmid eufl(penpaset Lifley
C. uemllwment, QUTHILGSH6T GHenB ST OBHBID PUILSHU! DIVLDFFEHLD
D. yerefuiuied oBpid S L HIOeITES DIHIDFFHLD.

173. Which of the following pairs (Arjuna Award Winners 2015 : Discipline) is not correct?

A. K.Srikanth : Badminton B. Swarn Singh : Rowing

C. S.Satish Kumar : Archery D. Sanothoi Devi : Wushu

eiteupld Denenrseled (oiTeg e alhgh OUBBeTHeT 2015 : Hiewm) FAwms CUTHHHaIe06m60?
A.Gs. ufanbg : UM LOGTL 65T B. erveugerr Sm ;@ Gumiig

C. ato10. FSag@wT : aled aldHms D. #0emBsmu1 Cxpal : ayag




174. Match the following

a. Yugantar 1. Bramanandhab
b. Sandhya 2. Virendranath Chattopadhayay
c. Talwar 3. B.K. Ghosh
d. Bandhi Jeevan 4. Sachendranath Sanyal
a b C d
A. 3 1 2 4
B. 3 2 1 4
C. 1 2 3 4
D. 3 4 1 2
QuUT(HGHSHIH
a. WsMhHHIT 1. Aybormhall
b. gpdwr 2. aGuhaTETS FUGLTUTSHSWITU
C. S606UT 3. U.8s. Gzmad
d. ubgd e 4. 5CIFHANBTIH FeiuImed
a b c d
A. 3 1 2 4
B. 3 2 1 4
C. 1 2 3 4
D. 3 4 1 2

175. Consider the following
I. Satyamoorthy is being called as protector of people rights
II. Ayodhyadas Pandidhar was one of the co-founder of the Newspaper Dravida Pandiyan
A.Tonly is correct B. II only is correct

C. Both are correct D. Both are wrong

LeiTeu(pld FnBBIBmeT DU1H

L FSHIWePTHS 10S&6T o Menld HTauevT 6THIBI DIHPSSLILIBSBTT

IL. SIBWTHHST0 LI HT HTall LTewngulet eai LshHfeamasulener CoHmmmiedsHeTaerel
DGR

A. Lo (b &1l B.II wi @b &

C. Syewiid gif D. ®yewihid Heumi

176. 58 x12 =4,37x96=5,11x20 =2 then42x12="7
A2 B.3 C.4 D.5
58 x12=4,37%x96=5,11x20 =2 aielle0 42 x 12 =7
A.2 B.3 C.4 D.5




177. If same patterns of operations are followed in all the three diagrams given below then the

missing number is
@Gy wrgflumer  GFweoLTBsmend emswWTeni®  SHC S (BeTen UL MIGS6MNI6TT  6T6mwIH6N
GNSSILL LT aBUL L eTewr WmgHI?

A.25 B. 80 C.75 D. 104

178. If in a certain language FASHION is coded as FOIHSAN, how is PROBLEM coded in that
code?
A. ROBLEMP B. PELBORM C. PRBOELM D. RPBOELM
FASHION s aumisengenwl - FOIHSAN  eier  @pfluiiiged . erpdlenmed. PROBLEM  ereiiys
UTTHemBHMW! 6eTeileuTml GHBUILIged 61(LPSHeVTLD?
A. ROBLEMP B. PELBORM C. PRBOELM D.RPBOELM

179. If the mid marks of a distribution are 23, 27,31,35 and 39, then the classes of the distribution
are

A.19-23,23-27,27-31,31-35,35-39

B.20-24,24 -28,28 -32,32 -36, 36 =40

C.21-25,25-29,29 -33,33 -37,37 —41

D. 22 -26,26 -30, 30 — 34, 34 - 38, 38 —42

yeremaleugmisefler L1fle), @l Ceueflsefler Sl BHenevsem (wedmGuwi 23, 27, 31, 35 @@ 39
oleflen, SiliLjeiterl eleurmiseaier ifle) @l Gealelsemend STemd

A.19-23,23-27,27= 31,31 -35,35-39

B.20-24,24 -28,28 —32,32 -36, 36 —40

C.21-25,25-29,29-33,33-37,37 -41

D. 22 - 26,26 - 30, 30 — 34, 34 — 38, 38 — 42

180. If the means of two distributions be M1, and M, while their frequencies are f1 and f> then the
mean of two combined distribution will be__

M fi+M,f, 1t M fi+M,f, 1,2
a. . C. d. +
M+M, JI+ 1 fi+f L h
Brewi® yetell aleugmiseier agraf wempGu M1 wBpid M: Semeusefler oimeoGeusst (wempGw fi
wBmid £ eefled, Bliyerefaleauymiselesr Qamenhs dnl BFFTTFT HTewis
lel+M2f2 1 lel+M2f2 1, 2
a. b. c. d. +
M+M, M+ 1 Lt 1 Lo 5

181. The most electronegative element of the periodic table is

A.Todine B. Fluorine C. Chlorine D. Oxygen
SHaflo auflens S L eueneniuled © 66 DIFHB 6T60HLJTeT HUT HBEIT OCBTEWIL. HEDLD  ---n--nmenmemmmem .

A. 91Buwimges B. wuerpfler C. &Genmles D. o sdlmes




182. Which of the following hydroxide is most basic ?

A. Mg (OH)2 B. Ba (OH)2 C. Ca (OH)2 D. Be (OH):

SDHHWIL.  MABL JTHMENVBH6MND 615 DIHB STIHHEEMD © el g ?

A. Mg (OH)2 B. Ba (OH)2 C. Ca (OH)2 D. Be (OH):
183. Silver salt used in photography is

A. AgCl B. AgNO; C. AgF D. AgBr

6bd FevauT o (] YmaslUL H6sTHede0 LGS mE?

A. AgCl B. AgNO; C. AgF D. AgBr

184. Sahitya Academy winner M.M.Kalburgi on 30 August 2015 was killed. He was
A. A noted Kannada epigraphist
B. A renowned scholar of the Vachana Literature
C. A former vice-chancellor of Kannada University
D. All of the above
FrdsHW all(hal OUBBEUTTET 6ID.6TD. H6ULLTH 30 Sumerdl. 2015 Sieiim C&TeLOLILIL LT, SIUT &
A. @ ysLOUBB H60C6IL[H HiLjewrT
B. amgen @evsduishsled LSDOUBB @ DiehT
C. ST LeOSHMeVSH HLOBHBHN @ (LT Hienewt Baurbg T
D. Gupseni  sienarshaild

185. Who is the CEO of Google?

A. Alfred Mark B. Sundar Pichai  C. Daniel Nichols D. PS Iyer
FmGeMar HBGUTMSHW HemeveuT WIMT?
A. spe0ligl onits B.absT UFms C. GLafluwied mldame06m D. dererd. ouiui

186. Consider the following
L. Annie Besant called Vivekananda as “Hindu Messiah”
II. Subash Chandra Bose called Vivekananda as “Spritual Father of Indian Nationalism”
A.Tonly is correct B. II only is correct
C. Both are correct D. Both are wrong
LleTeU(pLD  SnBBIBmeT OLUIH
L ol Cuseal alCausrarbsemy “@hd FW LTHISTEUEOT 616l SIENPSHSTT
IL. gutay FhaHTCUTed alCauastahsmy “@haw CarFlwdHHear AIlS SHHMSH 61T DIENPHSHTT
AT oG & B.II wi @G &M
C. @yewio & D. @rewiblo Heuml

187. Find out the incorrect pair with regard to INC Session
A. 1955 - Avadi — U.N. Dhebar
B. 1964 — Bhuwaneshvar — K. Kamaraj
C. 1966 — Jaipur — K. Kamaraj
D. 1950 — Nasik - J.B. Kripalani
Ueteuheuamaupmiel @b Chdlw smmigyerd mBTHS6T QBHTLILTRT Heummen Senentenuld HewiL e
1955 — aeug — U.N. Gaui
1964 — yeouBemerdeu - K. amiogmegit
1966 — Gquiniyf - K. smogmeat

lr\;-r\ (g} TD

Snwp




188. Which one of the following judgements stated that secularism and federalism are the basic
features of the Indian Constitution?

A. Keshavanada Bharati Case B. S.R.Bommai Case

C. Indira Sawhney Case D. Minerva Mills case

FowarTieaenn oBBIb s&ULT & ShaHul DFFuicuemoliler DIQLIML. FapIH6T 6Tarhammlul eI E?
A. CagamabsT LTI 6UDSHE B. S.R. Qumbenio aupda@

B. @pgir gramei eupda@ D. etiteur 1060 aupdHE,

189. Who among the following was elected president of India unopposed?

A. Dr Rajendra Prasad B. Dr. S Radhakrishnan

C. Dr. Neelam sanjeeva Reddy D. K.R. Narayann

UeteupLeTsefled W Gumiguilsbeumosd GHlpuTdid HmevalfTehd BHTHOHBHBIIL L TT?
A.vLrsLi. gn@xpdly yans B. LnsLT. 61610, @ITHTH (HA600T60T
C.L1sLT. Beod FehdFou OLig D. Gs. &u. mrgmULIemTeT

190. The Ministers are individually responsible to
A. The president
B. The House of the People
C. The Prime Minister
D. The House of which they are members
DIMIDFFTHET HMHBHENWTS WTHSEGHD HL MO LILL 6UTH6I?
A. BQuUIassH HMmevalT
B. wései oiemeu
C. gz wpa
D. sjauiset o mIlilenmsenTd o 6Ten  Sienel.

191. Consider the following statements:
I. The joint sitting of the two Houses of the Parliament in India is sanctioned under Article 108
of the Constitution.
II. The firstjoint sitting of Lok Sabha and Rajya sabha was held in the Year 1961.
ML Joint sitting will be presided over by Speaker
IV. Joint sitting requires special majority (2/3)
Which of these statements are correct?
A.Tand IT B.II, IIl and IV C.Iand III D. LII and IIT
LeiTaU(blD  FnBBIGMm6Td He6TlddHea|LD:
L slLéamp 108 @hHHw BILTEHOEBSHHET EH Dlemaudbeier gl B dnl LSHOSHTL(hHE eudeuens
CEwIFBSI
IL. wssenenal OBBID LOTHIEVHIGBET DIENEIUTET (LPHeVTAIEH Fnl (B Fnl LD 196160 BLIHSHI.
IMl. &= (B sl LGHFHeT HmeveUTTH LDSHBH6NMeneU FUTHTWLST 6lFuIeOLIHeuTT
IV. &l ( &l LFHOSTLHEG Fpiiy Qubureaiemn Seudud (2/3)
BuBEIeNT 6lhHdH SnBBISET &FiiTeTeneu?
A. T wppnd IT B. II, III wppid IV C. T woimid 11T D. I, II w@pib 1T




192. Which city topped in the Swachh Bharat Rankings of 476 cities in India, in a survey
conducted during 2014-15 by the Ministry of Urban Development, results of which were
disclosed on 8 August 2015?

A. Chennai B. Mysore C. Kozhikode D. Pune

OhHu odlear BSTILUB aIeNTFd DMFFSHH M0 2014-1560 BLHHULL L HeoidOHBLIL OBBID 8
B0l 2015 gy GeueflulL iUl L SIS (PgeyHeT  SlgliiedLuled,  Hmulemid  @bgHwm
HLSHGSD auflensILBGSHSIL L 476 HHUl HBIHIE6ML 6lhd BBID (PWHEILLD euFHHBSI.

A. QFaienest B. enwo@sT C. CamfaBs(h D. yGeur

193. What is the name of the cyclone that resulted in heavy rains in west Bengal, Manipur, Odisha
and other Eastern states of the country on 1-2 August 2015?
A. Cylone Beth B. Cylone Komen
C. Cylone Andy D. Cylone Merck
GoB@ eUmISTeNLD, WeWILILT, Q&T BEBID BILIGET BT SHpdbsHHW WTHevmselsd 1 — 2 giHerdl
2015 Gpglseiled, GLBLMWMWS SHHalsHs Ereuefluler GLUIT ereTen?
A. Gug @mpreuerf B. Gamlwesr @ meuer
C. oueing  @mmeuer D. Gwis @mpreuer

194. Match the following :

List-1 List-II

(Procedure) (Year)

a. short duration discussion 1. 1964

b. calling attention motion 28000

c. Zero Hour BT 1853

d. Committee on Public Undertakings 4.1954
a b C d

A 4 3 1 p)

B 3 4 p. 1

CcC 4 2 1 S

D 3 2 4 1

Llett6u(hHeuamieuBenBLl OILIT(hHHIP

Ul lguied =1 U guied - II

(BevL(pemm) (Suem1(5)

a. 3BHW M6V aleUTHLD 1. 1964

b. seuen miTILG iomend 2. 1962

c. umw Gpywb 3.1953

d. Qursis sewB PoeuemkiseT GsmLumer @ 4. 1954
a b C d

4 3
3 4
4 2
3 2

—_ W~k N

1
2
1
4

Onw >




195. Ordinances may be promulgated by the President of India, the Governor of a State and the
Administrator of a Union Territory, under which of the Article of the Constitution

respectively.
A. 123,213, 239 B. 123, 321, 239
C. 123,213,239 B D. 123,312,392 B

GRUIHFSH HEMEVAITED, @UH LOTHEVSHH  SLEHEITEL WBMID @  Welwer LIfCasF mHiTeurss
SHMEVAUTTY  Sleuggd  FULLD, (weopCu  opflwevemwlig  FULSHST  6hHSH  FLLEFIDBIILIG

LIpULN& &I eUMLD.
A. 123,231, 239 B. 123,321, 239
C. 123,213,239 B D. 123,312,392 B

196. Standard deviation of 1,4,5,7, and 8 is 2.45. If 10 is added to each term, what is the new
standard deviation? '
A.2.45 B.24.5 C.0.245 D. 12.45
14,57, 8 eiciip  elewizaier HL  ealevdsd 2.45 ou@b. @elbeumh eTemienie ALLIGIID 10-28
FLIgeTe0, L alevdhsld

A.2.45 B.24.5 C.0.245 D. 12.45

197. Which supercomputer is developed by the Indian Scientists?

A.Param  B. Super 301 C. Compagq Presario D. CRAY YMP
b WehsenllOuTns Bbaul Smleluisd DSiehiHenTed o (HeuTHSLILLL $Hi?
A. Param B. Super 301 C. Compagq Presario D. CRAY YMP
198. Which of the following refers to a small, single-site network?
A.LAN B. WAN C. MAN D. MESH
UeiteuheuameuBmled 6ibd @Bl Flw, @MeDB SH6M 6UMEVIIMLOLINLIS GBldaaTBa?
A.LAN B. WAN C. MAN D. MESH

199. Convert the Decimal number 300 into its hexadecimal equivalent.

A. (12C)16 B. (12B)1s C.(11C0)1s D. (1211)16
300 610 SHIFID 6T6RIENEMT LISGITHI [HleD6D 6I6WI6NITS  LOTHBBIS
A. (12C)16 B. (12B)1s C.(110)1s D. (1211)16
200. Free of cost repair of software bug available at Internet is called ...
A. Version B. Ad-on C. Tutorial D. Patch
BememTliSHFH 60 OLDETELIT(HET Llempsemen @eveudFions gifl OFuieugleneot 61T OIEMLPEBSHEOMLD?

A. Version B. Ad-on C. Tutorial D. Patch
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